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(4) The earth 1S not a perfect Square.

ART : .
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Match the following :
List-1I List - 11

(a) Kumaon Himalayas
(b) Nepal Himalayas
(¢) Punjab Himalayas

(i) Between Indus and Sutlej
(i) Between Kali and Teesta

(iii) Between Teesta and Brahmaputra
(d) Assam Himalayas (iv) Between Sutlej and Kalj
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. Consider the following statements :

(i) Longitude of Jabalpur's location is between those of Indore and Bhopal.
(i) Latitude of Aurangabad's location is between those of Vadodara and Pune.
(iii) Bangalore is situated more south ward than Chennai.
Which of three statements is/are correct ?

(1) (i) and (iii) (2) Only (ii) (3) (ii) and (iii)
frrfeieT T 9X =R #Y -

(i) STeegy @ Refy 8¢ oX A & & B
(i) oNaTaTe @ Refy w1 owiiy goRy IR ¢F B 99 B

(i) FAR A= B gaw T ot T ¥ Red ©)

(1) (i) 3 (iii) (2) e (ii) @3) (i) M (i) @) @), (i) I Gii)

(4) (1), (11) and (ii1)

. Which of the following is wrongly matched in rivers and the states served by them ?

(1) Krishna — Maharashtra, Karnataka and Andhra Pradesh
(2) Godavari — Maharashtra, Madhya Pradesh, Karnataka, Orissa and Andhra Pradesh

(3) Mahanadi — Madhya Pradesh, Orissa, Bihar and Maharashtra

(4) Narmada — Madhya Pradesh and Maharashtra
Prefafag § @ @9 97 ARal R S9 98d I Tedal # 7o W A

e ?

(1) FT - TBNTg, Heh AR Y S8

2) MEEY - HERISE, AL SR¥T, Hiesh, ISl 3l 31ig y_eT
(3) TEFE - T AR, I, R ok HerTs

(@) TR - A RN SR HERTSE
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5. Mean, Median, Mode are :
(1) Measures of Deviation

(3) Measures of Central Tendency

A1, Aieaehl, qEee ¥ -

1) == & A ) uRreaT & 7

(3) B wGRT B T (4) SUARH # 9§ BIg 6
6. A reasoning where we start with ce

universal statement is called :

(1) Deductive Reasoning

(3) Abnormal Reasoning

(2) Measure of Sampling
(4) None of the above

rtain particular statements and conclude with a

(2) Inductive Reasoning
(4) Transcendental Reasoning

Th TH SN 5 Fo AN et B g ge B T AR wh aEEE e
% A qEIT B &, HeT ST B

.

(D) ISNERICA G (2) AFHFATHS dh
(3) ™™ d& (4) FEiETE 9%
7. The Radcliffe line is boundary between :
(1) India and Pakistan (2) India and Afghanistan
(3) India and China (4) India and Myanmar
Tshrs 3@ s 99 # G e ? |
(1) ¥R 3R BRI (2) ARG AR STHMRET
(3) wRe 3T =+ (4) 9T IR =im”
8. Which city is known as "Eternal City" ?
(1) Cape Town (2) Oslo (3) Rome (4) Tokyo
Rpg 9Tex @1 "gead e’ B ©9 F T Swr B ?
(1) 9 =/ea (2) &l (3) T (4) <ry
9. Durand Line is boundary between : '
(1) India and Pakistan (2) Germany and Poland
(3) India and China (4) Pakistan and Afghanistan
<z Y@ s 9" H HHT B 7
(1) e 3N qiep&i (2) S AR OTs
(3) wRa IR = (4) IFRRETH AR BT
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10.

11.

12

13.

The science of study of soils is called :

(I) Seismology (2) Pedology (3) Ecology (4) Zoogeography
el % ITHIH B Qs H Fer o

() %9 fasT9  (2) ISteh (3) wiRfeaferr  (4) srge

Which of the following matches is not correct ?
(1) Myrdal — Cumulative Causation Model

(2) Friedman — Core-periphery Model

(3) Boudville — Transport Model

(4) Frank — Dependency Model

Fr=feiaa & @ #F9 a1 e 9e J87 2 ?
(1) SaqhY - =l Hoy oS

(2) WIsHT - HR-IRF Atsw

(3) drsfas - aR@ew dAfsw

@) B - U At

In Koppen's classification of climate the symbol AW refers to :
(1) Tropical Savanna Climate (2) Monsoon Climate
(3) Tropical Rainforest Climate (4) Steppe

BT B S B aBT H Tefis AW Halia s @ -

(1) SwmBfedd qamT siwarg (2) AT STy,
(3) Iwrhicddd auias SieaTg @) 'dq

Thornthwaite's modified climatic classification is based on the concept of :
(1) Effective Temperature

(2) Precipitation Index

(3) Potential Evapotranspiration

(4) Potential Precipitation

gEae I MR Searg afie<er B s@urRen @ amaRa 8 ?
(1) =& a9s=

(2) aut gerbish

(3) GHIfaT arsdTs

(4) g auf
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14. The largest variety of plants and animals is found in the :

15,

16.

(1) Temperate forests (2) Monsoon forests

(3) Tropical forests (4) Tropical grasslands

At ofR Sigett = waifee v ar o B -

(1) qHIMA®T a7 F ) AFg aF |

(3) SwTRTET a9 H 4) IwHeEdg g B AeH |

During winter the northern half of India is Warmer than those areas at similar latitudes
outside the country by 3° to 8° C. This is due to :

(1) India experiencing a tropical monsoon climate

(2) The wérm currents

(3) The tropic of cancer passing through the middle of the country

(4) The presence of the Himalayas with their east and west extent

gl & SR ARG S SO ST AFT I B R AN St 9T I &=
a%gawﬁ3°@8°€aqfﬁzﬁnﬁ€lm%|swmw%:

(1) ¥R T ITHeE "G Sfarg H STgHT HY & §

(2) ™ gRe

(3) % T aw B A A EHC TIA B
(4)3qa%g§aﬁrqﬁawﬁww%ﬂm%mmaﬁmﬁqﬁ

The weather office predicts ‘depression’ over a certain area. It means :

(1) Cloudy skies
(2) Atmospheric pressure in that area is lower than that in the surrounding area

(3) Heavy weather causing a feeling of depression

(4) Low atmospheric pressure overa large area

WW@W%%W‘W’H%MW%IWW
%.

(1) AurEsifed STHRT
(2)@%ﬁa@3ﬁﬂﬂam%éﬂﬁgﬁmﬁaﬁqm%

(3)%%11%?'?“@‘5“3‘1“%%

@) wp a2 &% 9 BT T3 SLER
Y)/(A) _ P.T.O.




17. Consider the following :

(i) Chilika Lake

(i) Pulicat Lake

(i1i) Vembanad Lake |

Which of the above is/are lagoon(s) ?

(1) (1) and (i1) ' (2) (ii) only

(3) (i) and (iii) (4) (1), (i) and (iii)

i ) R St -

() Toesr she

(ii) gicrhe i

(iii) T=rT1S 3 .

SURh H q HE-A1/ 9§ WA B/ ?

(1) (i) 3R (ii) (2) e (i)

(3) () AR (i) @) (), (i) 3R (i)
18. The irregularity in the amount of rain different parts of the north-Indian plains, during

different years is mainly due to :

(1) Irregular intensity of low pressure in the north-western part of India

(2) Difference in frequency of cyclones
(3) Variations in location of the axis of the low pressure trough
(4) The amount of moisture carried by the winds not being the same every year

S IR & et B Rt wmt §, AR aot § ast 99 oer § ofmmed
BT &I HROT § -

() RS & STR-aRerwh wwr F B9 caw @ ot SEa

(2) =ERardt & amgRy § ofqy

(3)$qmﬂﬁ%am%wﬁfﬁ=m

(@Wﬁﬁ@uéaﬁaﬁﬁmﬁqﬁwzﬁraww@mﬁm
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19. How do the 'western disturbances' affect the crops in North India ?
(1) They cause heavy damage to standing crops.
(2) They bring in locusts which destroy the crops.
(3) They are beneficial to the crops by causing winter rain.
(4) The amount of moisture carried by the winds being same every year.
ST ARG # 9= it haet @ R g s wear & 7
(1) ¥ T HEA B A FbAT TEER ¥ |
(2) 9 REAT #H ARy T o wHat B Tw BT AW T
(3) SISt # auf FHXEHT A woel B T eS8 )

(4) saTAT ST 8T 91T 999 81 gl T B HET )

20. Which of the following indicates the types of soil erosion in decreasing order of

damage caused in India ?
(1) Ravine erosion and gullies, alkalinity and salinity and water logging
(2) Alkalinity and water logging, ravine erosion and weeds
(3) Water logging, weeds, salinity and ravine erosion
(4) All are equally damaging
ﬁwﬁr@aﬁaaﬁﬂwﬁaﬁaﬁw%aﬁmﬁ&@%m%
TR B R BT & 7
(1) @g % HeE T A, el AR TGoaT iR 5o w2
2) edraT o} o/ ¥R, TE B Hed AN SRATER
(3) Wi W], ERUFAR, TEURl AR TE H B
4) g g w9 @ FHRS §
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21. Match the following :
List -1 |
(a) Alluvial Soils
(b) Black Soils
(c) Red Soils
(d) Laterite Soils
@ @® @© @
1 Gv) G @ 3G
(2 Gv) G di o @)
@) @G @G) (3Gv) (i)
@ (Gv) (i) @) @)
FfeIRaT @1 A I -

List — 11
(i) Highland areas of the plateau
(ii) Periphery of the Plateau
(iii) Deccan Lava Tract
(iv) River Basin and Coastal Plains

g -1 g -1
(a) STie Mg () 9oR & I=aqfy ax
(b) el T (i) TSR @ giRkfer
(c) @t fagh ' (i) SFpT AT A
d) SeEe g (iv) & AR IR adm As=

@ o © @
1) Gv) Gi) G @)
@ G G G 3@
@ @O G (v i)
@ Gv) (i) i) )
22.  'Which one of the following statements about forests is not correct ?
(1) Forests in the equatorial regions of India are less dense than the monsoon forests.
(2) Coniferous forests of high latitudes yield soft wood.

(3) Large-scale exploitation of forests has caused soil erosion and repeated floods.

@ \l?:atrniin 2000 m and 3000 m elevation on Himalayas grow Deodar, Chinar and

Tﬁ%aﬁﬁﬁwﬁﬁmﬁaaﬁq—mmwaﬁ%?
EZ)W%ng%@uﬁsﬁﬁawwaﬁaﬁgaﬂTﬁmaﬁ%I
(3)3,3‘%%%@%@%@%%%!
(43W%@ﬁ#ﬁwﬁﬁ%ﬁ§mmaﬁrm—mwm%'m
B w2000 dex q | = HHR
e 3000 Hex & S B 9 adar,
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3. Which of the following is/are correct ?
(i) Black soils are also called Bangar.
(ii) In some parts of Gujarat and Tamil Nadu the origin of black cotton soils is ascribed

to old lagoons in which the river deposited the materials brought down from the
interior of peninsula covered with lava.

(iii) Geographically, black soils are spread over 24.6 percent of the total geographical
area of the country.

(iv) The black colour is due to presence of haemitite ores in the soil.

(1) Only (i1) (2) (i), (i) and (iii)

3) (i) and (iv) @) (i), (iii) and (iv)

Frefaiea d @ S a1 geT8/8 ?

() A P # 9FI W FET I E

(ii)wﬁaﬁm@%@%@ﬁmmﬁ@ﬁmgﬁw
ﬁmﬁ%ﬁﬁﬁmﬁﬁm%mmﬁmm

ggrl @ SET Bl e
(iﬁ)%ﬁ%mﬁ,ﬁﬁ@%m%g&ﬁﬁﬁmeﬁ%%bmﬁﬁ

g B! |
(iv)wﬁﬁ@ﬁmmaﬁmfﬁ%zﬁm@m%.
(1) e (i) 2) (i), (i) 3N (iii)

3) (i) 3T ({v) @) (i), (iii) S (iv)

24. Who among the following pleaded that history be treated geographically and
geographically be treated historically ?
(1) Homer (2) Thales
(3) Hecataeus (4) Herodotus
St § @ frad o R e SRER H AR w9 § ol A w9
A AfERs @7 § SEER S el

(1) B 2) a<q
3) afaw (4) BASIeH
25. The concept of paradigm was propounded by :
(1) Kant (2) Peat (3) Kuhn (4) Haggett
S 3 oraeren has & gfeaied & B o ?
(1) ®wie (2) 9i€ (3) F& @) e
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26.

27.

28.

29,

A

Which map of the following techniques is not suitable for showing urban population on
the map ?

(1) Circles (2) Divided Circles

(3) Spheres (4) Hachures

iR qebeitehl d | PE-61 AFEE, TF SHEET B AFEE W) aH &
e Iug=h 7&T 8 ?

Mg (2) foisra ga

(3) A 4) B=rd

In which one of the following states of India women out number men ?

(1) Uttar Pradesh (2) Karnataka

(3) Haryana (4) Kerala

Freifefas @ wRa B Ry wow F ARearelt @ de gou A R 2
(1) ITT sI& (2) FieH

(3) =fmn 4) =

The Vale of Kashmir is the only level strip of land in the Himalayas, which river has
laid its deposits to form on this land ?

(1) Ravi (2) Sutlej
(3) Beas (4) Jhelum

ﬂwﬁ?aﬁﬂﬂ%ﬂwﬁ'ﬂﬁliﬁrvwﬁﬂﬁ?ﬂ%,?ﬂﬂﬁﬂﬁﬁﬂﬁﬁ
AT e ST B 7

(1) o (2) §IgS

(3) =S (4) o™

Which of the following reasons dominate rural-urban migration in India ?
(1) Marriage (2) Education

(3) Family Movement (4) Employment

Pt & & Pe-ar HRor AR § aeio-ed v o e 8 7
(1) foam (2) e

(3) TREies et (4) VSR

PHD/URS-EE-2022/(Geography)(SET-Y)/(A)



m/»

30.

31.

32.

33.

34,

In the subcontinent of India, the region frequently affected by tropical cyclone is :

(1) Gujarat Coast (2) Coromandal Coast

(3) Konkan Coast (4) Malabar Coast

WRA B ITEENT F, IR awbart § S S e awr 85 8
(1) IsE < 2) PRHSA d€

(3) HIH°T TS (4) AAER de

The greatest amount of insolation is received by which place of Earth's Surface ?
(1) Tropical rainforest ' (2) Tropical desert

(3) Savanna region (4) Equatorial region
q@aﬁm%ﬁﬁqmmgqﬁmaﬁmﬁaéwmé’ﬁﬁ%?
(1) IoRBleEH auiad (2) STl TEERIRT

(3) AT & (4) gE=EEE e

Tropic of cancer does nof pass through which one of the following countries ?
(1) Bangladesh (2) China

(3) Nepal (4) India

o T Prefata & & a3 A @ ol ¥ 7

(1) aieReT (2) =

(3) AT (4) \Rd

Which of the following is not a graphic representation ?

(1) Pie Chart (2) Table

(3) Bar Chart (4) Histogram

Sreferia § @ B @ Tiftes AR 787 ¥ 7

(1) o = (2) TR

3) IR =@ '(4) eERE™

cally concerned with landed property is known as :
(2) Geodetic Survey

(4) Triangulation Survey

A survey which is specifi
(1) Cadastral Survey
(3) Thematic Survey

@ﬁmsﬁ%ﬁq@qag—mﬁmﬁ%ﬁﬁ%mﬁmw%:

(1) gE=aRy qaerT (2) iR FewreT
(3) froerr wAETOT (4) Brger aderor

11
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35. Caurl Savor is best identified for his classic work related to :
(1) Cultural Landscape
(2) Economic Landscape
(3) Social Landscape

(4) Physical Landscape

B A B PR A A o FRs FW B R qad ordl awe @
qsq T ST B

(1) |repirs IR
(2) ol aRgya
(3) amfTe aRgea
(4) it aRged

36. The behavioural environment is gauged by :
(1) Reality as if exists in nature
(2) Decisions based on reasoned thought
(3) Man's behaviour as a function of the environment
(4) Reality as is perceived by individuals
IS ATATEROT B ST AT STl &
(1) areqiassar a1 spia # g 2
(2) Yt AR % R gT Rk
(3)W%m%wﬁq§wmw
(4) areiasar ST 7 @fmEt gy aEr sy 2

37. The radical school of geography was established by :

(1) B.J. Alberi (2) R. Peat

(3) G. Taylor (4) E. Semple

Tﬁﬁmmﬁwﬁﬁﬂ%mwﬁamwm?
(1) dle Jo @ (2) R0 die

(3) Sfo ¥ @) 3o T7Uw
PI-IDIURS-EE-2022/(Geography)(SET-Y)/(A)



39.

40.

13

A state in India has following characters

(i) Its northern part is arid and semiarid

(i) Its central part produces cotton

(iii) Cultivation of cash crop is predominant over food crops

Which one of the following has all the above characteristics ?

(1) Andhra Pradesh (2) Gujarat (3) Karnataka (4) Tamil Nadu
ARG H T WT & Friiiad aepor § -

(i) FHH ST AFT Pb T iy B

(ii) SHBT 7L AFT HIF J&T Har 2

(i) TR HEA B TRAl GET HEAT W N B

Fr=feiad & 9 feed Suke 9 e & ?

(1) ST seer (2) oI (3) FHATeH (4) AfHeTg

Which one of the following places do two important rivers of India originate, while one
of them flows north and merges with another important river flowing towards Bay of
Bengal, the other one flows towards Arabian Sea ?

(1) Amarkantak (2) Badrinath (3) Mahabaleshwar (4) Nasik

Frefofaa & @ 58 T ®&F § 9Rd @ @ Jec@yel ARAl & IE 2 B,
SqfF S @ TH IO @ A gudl @ AR I B TRl @ iR g8 arl

% org Hemyel A & e SR 8, @0 ORT PR # iR el B ?

(1) STHIhHh (2) FEHTT (3) HETEwa} (4) TR1E
Consider the following pairs :
Protected Area Well known for
(i) Bhiterkanika, Orissa Salt water Crocodile
(ii) Desert National Park, Rajasthan Great Indian Bustard
(ii1) Eravikulam, Kerala Hootak Gibbon
(1) Only (i) (2) Only (i) and (ii) (3) Only (i) (4) (i), (ii) and (iii)
=g gt oX 9= P :
TR & & foe ST Sar @
(i) NacenomeT, SSEm @R tn‘*‘r‘r Bl AIHD
(ii) o1& JoreT TTh, ST T gfeaT aws
(i) TG, B g Fre
(1) e (i) (2) Fad (i) 3R (1) (3) e (ii) @) (@), i) 3 (i)

PHD/URS-EE-2022/(Geography)(SET-Y)/(A) P.T.O.
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41.

42,

A

Westerlies in southern hemisphere are stronger and persistent than in northern
hemisphere. Why ?

(i) Southern hemisphere has less landmass as compared to northern hemisphere.
(i1) Cariolis force is higher in southern hemisphere.

Which of the statements given above is/are correct ?

(1) (@) Only

(2) (i1) Only

(3) Both (i) and (ii)

(4) Neither (i) nor (ii)

S M B ger ¥ ERel Nant § ggen sal yew ok wmt exft ¥
4t ?

(i) sl Mad & Sud Nemt @ ga § 9 g ¥
(i) sl Mard § SR aa ot aar 2

PR RT T 7=t & § F-91/9 g/ & ?

(1) e (i)

(2) e (ii)

(3) (i) 3R (ii) =t

(4) T () AT (i)

What causes wind to deflect towards left in the Southern Hemisphere ?
(1) Temperature

(2) Magnetic field

(3) Rotation of the earth

(4) Pressure

@Uﬁ’ﬁﬁﬁﬁ'ﬁlﬁ%mﬁaﬁjﬁaﬁﬁaﬁ
" BT T HRoT B ?

(2) I 8
(3) I=0 &1 gue
4) TaE

Y)/(A)
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43. Match the List — I with List — I :

List -1 List — IT
(a) Isohels (1) Rainfall
(b) Isonephs (ii) Sunshine
(c) Isohyet (iii) Smow Depth
(d) Isonif (iv) Cloudiness

@ o © @
1 G @ @) 3Gv)
2 @@ @) av) Q@)
3 @G v @ Gi)
@ @ Gv) (@) 3D
@—I%W@—Hﬁﬁﬁﬁaﬁ:

T -1 g -1
(a) STEARTH () ast
(b) IMEHSFT (ii) g
(c) oTERRE (iii) fr e
(d) AEIS (iv) areeT

@ @® @© (@
(1 @Gy @ G @Gv)
@) @ @i aGv) @)
3) () Gv) @ (i)
@ (@) (@Gv) @Gi) @)

. Which one of the following is a conventional projection ?

(1) Polyconic (2) Sinusoidal

(3) Bonnes (4) None
Preiifag § @ @ a1 dRa® TRqoT § 7

(1) dicirepi~en (2) EEgdEsd
(3) 9 (4) ®Ig &

PHD/URS.-EE-2022/(Geography)(SET-Y)/(A)
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45,

46.

47.

Which one of the following is wrongly matched ?
(1) Isobars — Places of equal pressure

(2) Isotherms — Places of equal temperature

(3) Isohyets — Places of equal rainfall

(4) Isopleths — Places of equal heights
R & @ @ a1 gaART 78T R ?

(1) g9aE @1 — §91 39 g ®&IF

(2) g9 @M — A a9 g '

(3)&@@—%@@%
(4)Hqﬂﬁi'@1§—ﬂﬂﬁ$iné° ey &=

Who defined geography as human ecology ? |
(1) Schaefer (2) Hartshorne

(3) Richtofen (4) Barrows

e B A iR @ @q # Reaa afe a2
(1) ST (2) eRL

(3) Rere 4) T

Vector and raster data models are used in :
(2) Remote sensing

(1) Global positioning system
(4) Whittlesey

(3) Weaver
mmwwmwmmm%:

(1) o Qs Rreed & (2) e T A
(3) dex & 4) e #

Operation flood is related to :

(1) Check the soil erosion

(3) Flood control

SR IS HT T 8 -

(1) P& & e @t S &
(3) arg fE=oT |

(2) Increase milk production
(4) Fish production

(Z)Wmﬁqﬁﬁﬁ
(4)11@?1135413#@!

PHD/URS-EE-2022/(Geography )YSET-Y)/(A)
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49, : :
V;/ho amopg the following was the first o develop method of crop combination ?
(1) Weber (2) Wegner
(3) Weaver

(4) Whittlesey
MRt & & B et wieivor &1 Ry PR e 1o e @Re o ?

(1) =% 2) AT
(3) EﬁER‘ (4) %‘gﬁ'&ﬁ
50. Which one among the following is the coral group of islands situated in India ?
(1) Nicobar (2) Lakshadweep
(3) Minicoy (4) Andaman
ﬁ%ﬁﬁ%—mwmﬁmmwmw%?
(1) Feprar (2) wRIEY
3) Ffw=E (4) =A™
51. Leaching is the maximum in which type of soil ?
(1) Desert soil (2) Laterite soil
(3) Red soil (4) Regur soil
e fop o @ gt o offtrsas 8 B 7
(1) aoerRta B (2) ST W
(3) @ 4) TR @

52. Which of the following is the main objective of the watershed management strategy of
India ? '

(1) Soil conservation

(2) Arid land management

(3) Hill slope management

(4) Promoting selviculture |
Rrefefad & @ BT A1 AR B SIOHA TG O BT gy a2y R 7
(1) &1 |TIT

2) g=p 9 W

(3) TBTST T HEE

(4) AeipeE B TGET &1

PHD/URS-EE-2022/(Geography)(SET-Y)/(A) P.T.O.
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53. As per the census conducted in 2011, which of the following state has the lowes

population density ?

(1) Kerala (2) Uttar Pradesh
(3) West Bengal (4) Bihar
2011 B SR % AFER 1 T q 6 o9 1 SHEET e 999 B L 7
(1) 3w (2) IT w7
(3) R=r g 4) foer
54.  Which of the following is nof a land locked country of Europe ?
(1) Hungary (2) Kosovo
(3) Czech Republiq (4) Spain
Frifefed & & B9-91 g3 $1 weas 3w T8 L 7
(1) & (2) =rEEr
(3) A% TRTH 4) |
55. Territories of which of the following does not touch the Dead Sea ?
(1) Lebanon (2) Jordan
(3) Israel (4) Palestine
=1 & & fpee & 99 9 @y wsg T8l HIAT & ?
(1) = (2) S
(3) goTItEw COREINIGE|
56. Mount Kosciusko is the highest mountain in -
(1) Russia (2) Canada
(3) Australia (4) Indonesia
TR HIRFATH O A e
(1) = = (2) FreT §
(3) swmedferar & (4) SERRAT

PHD/URS-EE-2022/(Geography)(SET-Y)/(A)



57.

58.

59.

60.

61.

Australia's longest river system is made by :
(1) Darling river
(3) Culgoa river (4) Paroo river
ST B Fad T 7y oy a7 B -

(1) st 96 grr

(2) Murray river

2) I TG &
(3) JEMET I BRI (4) qrE € &R
Which among the following is an extinct volcano ?
(1) Barren Island (2) Anak Krakatoa
(3) Mount Kenya (4) Mount Kilimanjaro
Frfafaa & § Po-ar Rga s § ? '
(1) aF A9 (2) 3B THeBICISTT
(3) A¥e HAT (4) FrfeEsTr 9ad
What is the study of landforms called ?
(1) Sedimentology 7 (2) Geology
(3) Geomorphology (4) Seismology
el & oTed bl FT Hed © 7
(1) eragR fasm= (2) Has=
(3) F—3THieT fas 4) 9b9 s
What is the deep depression in a stream bed at the base of a waterfall called ?
(1) Plunge pool (2) Cuesta
(3) Meander (4) Ox bow lake
ST @ ST X STERT % TR W B AT Fed T 7
(1) &S g (2) FgET

3) == 4) SifFT =Y =

What is the linear volcanic vent through which lava erupts called ?

(1) Guyot (2) Caldera (3) Dike (4) Fissure vent
WWW@@HWW%WWWWW%?
(1) e (2) B (3) sT&h @) frR F=

PHD/URS-EE-Z()ZZ/(Geography)(SET-Y)/(A)
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62.

63.

64.

65.

66.

Which is an immediate layer beyond the ozone layer ?
(1) Troposphere  (2) Thermosphere  (3) Exosphere
Firoie X B o IR B 9T 9T ® ?

(1) ArEsd (2) FHETEHEY O) R ()

The classification of an masses is based on which among the following factor 7
ac
(i) Revolution of the earth or

(ii) Humidity

(4) Mesosphere

(iii) Temperature

Select the correct option :

(1) Only () @) (i) and (i) (3) G)and Gii)  (4) (i), (i) and Gi)
SeTH T aERel FrERRad 8 ReE 9) omaiRa ® 7

(1) gt @ afeRET

(ii) ST

(1) AM9HTE

AT G e L i T
O FEH @ @G () GG @) ), ) ARG

What is a low area lying between hills often with a river running through it called ?
(1) Trench (2) Waterfall (3) Valley (4) Moraine

W?@%m@ﬁ@ﬁﬂﬁmﬁaﬁéﬁmaﬁﬁﬂ

(1) = (2) ST (3 Tt @
Z’l\’)hi;h among the following has the highest albedo ?
ﬁwﬁg: (2) Deserts (3) Fresh snow (4) Land surface
(1) 79 AR oo oS we oo 2 7

S (3) T RwaE - (4) 9 A T

Which among th ; . oW
freezing pOin%? e following forms on solid surfaces when condensation takes b€

(1) Dew
e § § q?f:zr) Jmoe (3) Fog - (4) Frost
&7 O Gl W qear B or w@E R 8

(D) ang

g

(@) St 3) e (4) T
V)a)



67.

68.

69.

70.

71.

PHD/URS-EE-2022/(
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What is tht? accumulation or grouping of tiny water droplets and ice crystals that ar¢
suspended in the earth's atmosphere ?

(1) Humudity (2) Cloud

(3) Hail - (4) Condensation
q@%wﬁﬁﬁ%ﬁﬁm@aﬁaﬁi’mmww
e = § ?

(D T (2) A9

3) & (4) Heraer

What is the effect of rotation of earth on the direction of the winds called ?
" (1) Pressure Gradient Effect (2) Coriolis Effect

(3) Frictional Effect (4) Centripetal Effect

g 9 fRsw 9% g B g B gNE B F Bed & 7

(1) 9= Afsde ga ™ (2) FHieNE 9T

(3) =T T (4) dfgfes g9d

What are the winds which blow from the polar high pressure area to the temperaie low

pressure area ?
(1) Westerlies (2) Trade winds

(3) Monsoons (4) Polar Easterlies
gﬁﬂﬁm%ﬁw@?ﬁw%ﬁrm@ﬂaﬁaﬁaﬁmﬁmﬁw% ?

(1) afz=rf &amd (2) 3 &l .

(3) AFYA 4) g gdf sand

In which among the following countries, is the ship building industry most advanced ?

(1) Japan (2) China (3) Germany (4) Canada

ﬁﬂﬁﬂf@ﬁﬁﬁﬁm%ﬂﬁfﬁﬂﬁﬁwaﬁﬂmw%?

(1) STTa™ (2) =@ (3) SR (4) FHATST

Mt. Elbrus is located in which among the following continents ?

(1) North America (2) South America (3) Africa (4) Europe

e T e | 3 fpg weElv 7 Rea ® 7

(1) ST MR (Z)Waﬁﬁﬂo‘ro)mﬁzﬁr @) TR
Geography)(SET-Y)/(A) r
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T2.

73.

74.

What are the dusty winds blowing in the Northern Africa and Arabia called 9

(1) Loo (2) Mistral

(3) Harmattan (4) Khamsin

S STHIT ol SR H T dnll 96 WY 99l B R daq ¥ 7
M g @ Prege

(3) eE 4) @™

Which among the following continents border the Pacific Ocean ?
(i) Asia

(11) North America

(ii1) South America

(1v) Africa

(v) Australia

Select the correct option :

(1) Only (i), (iii) & (v) (2) Only (1), (ii) & (iii)

(3) Only (i), (i), (iii) & (v) @) (), (1), (i), (iv) & (v)
Frfiie & 9 HF-91 AeTdlu q9nid qerEER @ SE S96T & ?
(i) wiRrET

(i) I8 AT

(iii) =TT AT

(iv) STHiHT

(v) Sfre2ieran

el Feed &1 == B

(1) B (i), (iii) &< (v) (2) Faa (i), (i) 9N (iii)
(3) &= (i), (i), (iii) ST (v) @) @), (i), (iii), Gv) SR (V)

Which among the following salts has the highest percentage in ocean water ?
(1) Sodium Chloride (2) Magnesium Chloride

(3) Calcium Sulphate (4) Calcium Carbonate

TR B o X Preifafad § @ feg wor 1 s @@t © 7

(1) 9T wiREs (2) FNREE FES

(3) HieamT gepe (4) BiRgaw FHEH

PHD/URS-EE-2022/(Geography)(SET-Y)/(A)



75. The report entitled "Our Common Future" was submitted in 1987 by :
(1) Food and Agriculture Organization
(2) World Matereological Organization
(3) Intergovernmental Panel on Climate Change
(4) Bruntland Commission
"Our Common Future” 7% R 1987 # fpeeb &< srga 1 T a0t 7
(1) @ AR P G
) faea FeRAWTSRT |Ted
(3) SeEaTg UREdT X AR B U
(4) secis HHITH

76. Which perspective in geography is associated with Ferdinand de Saussure ?
(1) Positivism (2) Behaviourism
(3) Feminism (4) Structuralism
T & AT T ARG B 3 Ar § g ® 7
(1) ScgefEae (2) FTERAR
(3) rdET= (4) gEEER

77. Which of the following statistical technique is used to analyse the interdependence of

the variables ?
(1) Location Quotient
(3) Coefficient of Variability
P & @ few Wit
P & ferg fpan S E 7
(1) &I AFTH
(3) gfRacRieTar & RAIED
ed by a group of buildings is known as :
(2) Pattern
(4) Situation

ﬁﬁaw@?ﬁqm@ﬁfmﬁ%:

(2) Standard Score

(4) Principal Component Factor Analysis
qeiep T START =R B SFTIAMHGT BT fqgersor

(2) 9T HAD
(4) ST 9T HReb [aeieor

78. Geometrical shape form
(1) Site
(3) Location

qg4t & AR

) Wﬂig (2) e
(4) feafer

(3)

PHD/URS-EE-2022/(Geogl'aphy)(SET'Y)/ (A) P.T.O.
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79.

80.

81.

82.

Which of the following are defining feature of positivism ?

(1) Metaphysical (2) Empiricism

(3) Normative value (4) Unification of scientific laws
Prafafaa § 9 H9 TEEE S g Qe g 7

(1) e (2) TgHEa™

(3) W A (4) AP BT BT THIBLT
Who is the first person to coined the term Geopolitik ?

(1) Ratzel (2) Kjellen

(3) Haushofer (4) Peter Kropotin

F-TSTIRT 91X @A qIl 9B Ak Hi & 7

(1) Y@ . 2) S

(3) STEH (4) drex @difed

Who authored the famous book Muquaddimah ?
(1) Ibn Batuta (2) Al Beruni
(3) Al Idmsi (4) Ibn Khaldun

L
TS 5 HEAs B aeh B § ?
(1) g7 agan (2) 9 &
(3) I T (4) &7 TegA

Which one of the following pair of islands is separated from each other by the ten
degree channel ?

(1) Andaman and Nicobar Islands
(2) Nicobar and Sumatra

(3) Maldives and Lakshadweep
(4) Sumatra & Java

ﬁmﬁﬁﬁamMﬁﬁm%ﬁ%ﬁ@-@ﬁmé

(1) =9 IR FepeR g9 a9
(2) MR SR gwEn

(3) AT AR TRIET

(4) gaET AR SIwEr

PHD/URS-EE-2022/(Geography)(SET-Y)/(A)




83.

86.

87.

PHD/UR

The famous Gerosoppa fall is on which river ?

(1) River Sharaswati (2) River Ganga
(3) River Gomti (4) River Godavari
TS IR ST R wE a7 R ?

(1) 93E=<T =) . (2) I Tl

(3) et o (4) el T

Weathering is at "in situ". It means :

(1) Breaking of rocks at the same site  (2) Breaking of rocks by glaciers
(3) Breaking of rocks by water (4) Deposition of rock

HIAT "in sitn” 9X BT B | SHHT AW 8

(1) @& & T 9R =gl & g (2) Bo=al ax1 agHt &1 g

(3) 9l | =gl & &I (4) T B HEger
Which of the following is not a planetary wind ?

(1) Trade wind (2) Westerlies

(3) Polar winds (4) Monsoon
Preqfefad & @ P-4 78 9@ FET 8 ?

(1) 25 9a4 (2) af¥=rft gamnd

(3) g &an (4) AT

Cirques are the most common landforms in :

(1) Glaciated mountains (2) Flood plains

(3) Coastal landforms . (4) Karst topography
o qEd g g-onghEl €

(1) fearesiRd w&d (2) 9% & J==
(3) a<a -t @) TR TR
Rhumb line is helpful in :

(2) Shape Calculation

(1) Area Calculation
(4) Shortest distance Calculation

(3) Depth Calculation

¢q e @emEd el ®
(1) &= @ T A (2) SBR H O F

(3)mfgzﬁfm:ﬂﬁ @) | 9 g P op ¥

S-EE-2022/(Geography)(SET-Y)/( A)
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88. Which of the following biosphere reserves is incorrectly matched ?

(1) Nokrek — Meghalaya
(2) Manas — Uttar Pradesh
(3) Sundarbans - West Bengal
(4) Simlipal —  Orissa
Frefiad & & B9 @1 TAERER o gART T8 R ?
(1) e L
(2) 7= - ST aRA
(3) gaaA ~  qiYEd A
GRLERIRIS - g
89. Which of the following methods show population density on the map ?
(1) Choropleth (2) Isopleth
(3] Dot (4) Line
Frefafaa § @ SE- ffy a9RE o seee e T 2 ?
i 2) s
G) s @

90. Bhabar belt is found in the -
(1) Chota Nagpur Plateau
(3) Himalayan Piedmont Zone
() Bl TR %1 e (2) diderh Tre
() BRI drevte ay (4) T STy IR

(2) Western Ghats
(4) Coastal Andhra Pradesh

91. Xerophytes are vegetation of :

(1) Humid Climate

(2) Dry Climate
(3) Wet Climate : i

(4) Rainy Climate
STRIBETH vy & .
(1) T ey 3 STy
(3) omf STy 2 T §

(4) T SIwEg &
PH])/URS-EE-20221(Geography)(SET-Y)l(A)
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A
92.  Which of the following census years is called a Great dmde in the demographic history
of India ?
(1) 1901 (2) 1921 3) 1951 (4) 1931
Rreifefad & @ Reg ST af @ wRa $ st sked J I 7
oS T STaT ® 7
(1) 1901 (2) 1921 (3) 1951 (4) 1931
93. 'Khadar' refers to :
(1) New Alluvium (2) Old Alluvium
(3) Terai (4) Kind of jute
Qe IRt B
(1) =T STe (2) g ST
(3) a® (4) Th FHR B
94. " Frost action is an example of : _ | :
(1) Chemical Weathering (2) Mechanical Weathering .
(3) Biological Weathering (4) Human Weathering
guR e O e B
(1) TEEes 9™ (2) FifFH ATy
(3) Sifaes 3T (4) A9 A9
95. Which of the following is associated with mountain building process ?
(1) Orogenic (2) Eperiogenic
(3) Volcanism (4) Seismic
ﬁmﬁf@ﬁﬁﬁﬁ#mmﬁﬂfﬂnﬁﬁmﬁwfﬁﬁ%?
(1) MR=f1H (2) TR+
(3) SETTIE! (4) IHd
96. Which of the following atmospheric layers has the concentration of Ozone ?
(1) Troposphere (2) Stratosphere
(3) Tonosphere (4) Thermosphere
ﬁmﬁ%ﬁﬁama@ﬁﬁﬁmﬁaﬂﬁwaﬁm%?
(1) sraHss (2) 9999 Hs&
(3) SFFTHST (4) gHERER
PHD/URS-EE-2022/(Geogl‘aPhY)(SET-Y)/(A) bt
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97. The moderating influence of the ocean on air temperature is called the :

¢)) Continental Effect
3) Latitudinal Effect
qrg & amAd T g%

(2) Maritime Effect
(4) Altitudinal Effect

%Wrﬁma%aﬁg%%:

(1) HETEgE T (2) TA 99
(3) rerieier S (4) ufeeegfeTa THE
98. Which of the following is not a Union Territory ?
(2) Goa

(1) Jammu & Kashmir

(3) Puducherry
Prer & @ @m-an ghvea R TTe 7

4 Chandigarh

(1) 7 3R HFHR (2) Tar

(3) g | (4) =ISTTE
99. Which of the following is correctly matched ?

(1) Reast — Odisha

(2) Koraput — Assam

(3) Digboi — West Bengal

(4) Jhumari Telayia— Jharkhand
Pretfafad & & @ a1 g8 gake © 7

(1) et ~ iz
(2) PIIgE - o T
(3) %’@’5‘ — q@a-q EFW

100. The air parcel that contains moisture to its full capacity is :

(1) Absolute humidity ) Saturated ait

;2 z:fﬁ;;l: m (4) Specific humidity
TS g8 euar q A9 3

(1) got emsan T :122;5 ’ el &,

(3) 9m& STEET @ qg< darg

PHD/URS-EE-2022/(Geography)(SET-Y)/(A)
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1. Which of the following matches is not correct ?
(I) Myrdal — Cumulative Causation Model
(2) Friedman - Core-periphery Model
(3) Boudville — Transport Model
4) Frank — Dependency Model
Fretieies & & &9 a1 o ad 987 R 2
(1) STTHE - Hoht FHxohg gisa
(2) HISHT - HR-RFY Hiew
(3) Sisfae - qRgsw O
4) %% - RIEH vsw

2. In Koppen's classification of climate the symbol AW refers to :
(1) Tropical Savanna Climate (2) Monsoon Climate
(3) Tropical Rainforest Climate (4) Steppe
BN B STEg B FBT X wehs AW eRiq pear -
(1) IwrRfedeia FamT Seary (2) 9 STy
(3) SwTBledEy autaT Siary (4) &q

3. Thornthwaite's modified climatic classification is based on the concept of :

(1) Effective Temperature (2) Precipitation Index

(3) Potential Evapotranspiration (4) Potential Precipitation
grferde $1 G Sierarg aeilesor fFe SaRen ) emnig 7
(1) worEt a9E= (2) ast gabin

(3) GwIfaa aTsdRES (4) Hfaq aut

4. The largest variety of plants and animals is found in the :
(1) Temperate forests (2) Monsoon forests
(3) Tropical forests (4) Tropical grasslands
et o Sigelt @ WAl R TR o ®

(1) gaefareT a9 # 2) 9= g a= |
(3) IwBleEd a9 & (4) Iwpiead gy $ AeM F

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P.T.O.
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5. During winter the northern half of India is Warmer than those areas at similar latitudes

outside the country by 3° to 8° C. This is due to :

(1) India experiencing a tropical monsoon climate

(2) The warm currents

(3) The tropic of cancer passing through the middle of the country

(4) The presence of the Himalayas with their east and west extent

qigat & SR ARG BT IAU TN 9FT T S 9] G9H SR 97 39 a1
& g 7 3° | 8°C 3feRp T BRI 8 | THH BRI 8

(1) R Ush IWTHCAHT AMYA STaarg & AJHd HL @ &
(2) ™ g

(3) @ 1@ 2 & T F BIH [l &

(4) I gd IR ulded R & 9 g @ Iuikefa

6. The weather office predicts 'depression’ over a certain area. It means :
(1) Cloudy skies
(2) Atmospheric pressure in that arca is lower than that in the surrounding area
(3) Heavy weather causing a feeling of depression

(4) Low atmospheric pressure over a large area

AeY FEfey T Fed 83 d S ‘g’ P afasgaeht Har 21 s9sr o
-

(1) AET=BIRT THIN
(2) 39 &= § FgHsdT caE STHIE B & # gl § HH B @
(3) 9 AHH B HROT T9 HegH BNl 8

(4) 6 93 & 9T FHA gqgHSAg T
PHD/URS-EE-2022/(Geography)(SET-Y)/(B)



7. Consider the following :
(1) Chilika Lake
(i) Pulicat Lake
(iii) Vembanad Lake
Which of the above is/are lagoon(s) ?
(1) (i) and (ii) (2) (ii) only
(3) () and (i) (4) (i), (ii) and (iii)
FrifRed = fREr i
(i) Torespr she
(i) gferpe shar
(iii) =TS e
TG F A DA, d A 23 7
(1) (@) 3 (i) (2) e (ii)
(3) (i) &M (iii) @) (@), (i) 3T (iii)
8. The irregularity in the amount of rain different parts of the north-Indian plains, during
different years is mainly due to :
(1) Irregular intensity of low pressure in the north-western part of India
(2) Difference in frequency of cyclones
(3) Variations in location of the axis of the low pressure trough
(4) The amount of moisture carried by the winds not being the same every year
ST 9RT &% AgMEl & fafs= Arit &, fAfv= oot & auf @ e § efwafigar
B T HRT @ -
(1) RT & STR-ufRerh wrr & &7 qa & st dea
(2) Ieparal #H emghy & 3fax
) ®F 99 Id H o B ' T Frrar

(4) Ea1eT BT & ST 9rel AR @ HET H1 &< 9 O ofdT A8l 8T

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P.T.O.




9. How do the 'western disturbances' affect the crops in North India ?
(1) They cause heavy damage to standing crops.
(2) They bring in locusts which destroy the crops.
(3) They are beneficial to the crops by causing winter rain.
(4) The amount of moisture carried by the winds being same every year.
ST ARG F ‘oRerfl el wEel B RhE SR TEiEd S § 7
(1) ¥ S wHal H 9 JHAHE T 3 |
(2) 3 fgat = A & S HEAl B A BT A |
(3) SISt # a9t HAH T HEAT B T ATHEED B B |

(4)@@@?&%%@%%@%%1

10. Which of the following indicates the types of soil erosion in decreasing order of

damage caused in India ?

(1) Ravine erosion and gullies, alkalinity and salinity and water logging
(2) Alkalinity and water logging, ravine erosion and weeds

(3) Water logging, weeds, salinity and ravine erosion

(4) All are equally damaging

fFrefiied & § ®F 9RT § 89 9 99N B "ed HH 8 ME B Peg B
ST I R HIar B 7

(1) @€ &1 HeE S A, ear R daoar AR S| 90T
(2) ATOTET IR S WA, TE FHT HeF A GITIR
(3) ST WY@, TXUAOR, @Rl R ©E & PHe

4) 99 999 ®9 ¥ RS E
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11.  Xerophytes are vegetation of :
(1) Humid Climate (2) Dry Climate
(3) Wet Climate (4) Rainy Climate
SIRIBEEH aoefy § :
(1) ot SieEg & 2) g6 S@Eg B
(3) T SiwErg B @) Tuf SErg &
12. Which of the following census years is called a Great divide in the demographic history
of India ?
(1) 1901 (2) 1921 (3) 1951 (4) 1931
P § § R Swomn ad B wRa 3 sHwikEdd ke § uh g8
feremorT et ST B 2
(1) 1901 (2) 1921 (3) 1951 | (4) 1931
13. 'Khadar' refers to :
(1) New Alluvium. (2) OId Alluvium
(3) Terai (4) Kind of jute
‘@reY o ot ® -
(1) a1 Sl (2) ITAT S
(3) a3 (4) TP 9BR A Je
14. Frost action is an example of :
(1) Chemical Weathering (2) Mechanical Weathering
(3) Biological Weathering (4) Human Weathering
U a1 T Iamex @ -
(1) TS HAIE™ (2) TiEF a9ar
(3) S oTuRw . (4) 9T eT9RTY
15. Which of the following is associated with mountain building process ?
(1) Orogenic (2) Eperiogenic
(3) Volcanism (4) Seismic
Frefied & § @F-ar uda Fefer afea § g6 2 2
(1) STSi® (2) WSS
(3) SETEt (4) g

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P.T.O.



16.

17.

18.

19.

Which of the following atmospheric layers has the concentration of Ozone ?
(2) Stratosphere

(3) Ionosphere (4) Thermosphere
Rretfefee & @ Reg argrsed oxa F ofsie @ Hisen & 7

(1) Troposphere

(1) arsHsa (2) G HSA

(3) SAfg=Hs (4) HATEHIAX

The moderating influence of the ocean on air temperature is called the :
(1) Continental Effect (2) Maritime Effect
(3) Latitudinal Effect (4) Altitudinal Effect
qg $ AIHM W YR B GHbTY S B FEA ©

(1) 9edihE a9 g (2) 9 THE

(3) srieha swE (4) Cfeeegise T
Which of the following is not a Union Territory ?

(1) Jammu & Kashmir (2) Goa

(3) Puducherry (4) Chandigarh

Frer § @ AT givEe Rl TR ?

(1) 59 3 B (2) T

(3) 3= (4) =STTE

Which of the following is correctly matched ?

(1) Reasi — QOdisha

(2) Koraput — Assam

(3) Digboi —  West Bengal

(4) Jhumari Telayia— Jharkhand
Rrerfefae o @ @i a1 §et gafaa & ?

(1) = —  ofifsam
(2) HRYE ~ I q
(3) T _  gRE™ 4

@) Zah T - #AREs

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)



20. The air parcel that contains moisture to its full capacity is :

(1) Absolute humidity (2) Saturated air

(3) Relative humidity (4) Specific humidity

g8 TIR UHd [EH 3@ g ear o A9 el g, ® -

(1) b amsar (2) Hg=<T1 arg

(3) e ST (4) fafdre amar
21. Mt. Elbrus is located in which among the following continents ?

(1) North America (2) South America (3) Africa (4) Europe

A8 Towd frefeiiea o @ g #7eiEa F Rea B 7 '

(1) ST 3MR&T (2) &RoT oFRes (3) SThiehT 4) g9
22. What are the dusty winds blowing in the Northern Africa and Arabia called ?

(1) Loo (2) Mistral ~ (3) Harmattan  (4) Khamsin

ST SHWHIBT T IR H = dll gl A Y1 Bl FT Hed © 7

D g (2) Poregan (3) & 4) @R
23. Which among the following continents border the Pacific Ocean ?

(1) Asia

(ii) North America

(iii) South America

(iv) Africa

(v) Australia
Select the correct option :

(1) Only (i), (iii) & (v) (2) Only (i), (ii) & (iii)
(3) Only (i), (ii), (iii) & (V) @) (), (i), @ii), (iv) & (v)
ﬁmﬁ{@aﬁﬁﬁw—mmmwaﬁmaﬂm%?
(i) TRmET ~

(i) I8 st

(iii) gfaroT SMRemT

(iv) STHIhT

(v) sitegferar

el A% BT TI= BT -

(1) e (i), (i) T (v) 2) @I (i), (i) 3 (iii)

(3) ae (i), (i), (i) 3 (v) @) (), (i), (i), (iv) ST (v)

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P.T.O.



Which among the following salts has the highest percentage in ocean water ?
(1) Sodium Chloride (2) Magnesium Chloride

(3) Calcium Sulphate (4) Calcium Carbonate
ﬂgﬁ%aﬁﬁﬁmﬁiﬁaﬁﬁﬁﬁwwwqﬁmﬁmﬁ@ﬁ%?

(1) METH FIRES 2) FHRET FRES

(3) BiesaH Hehe (4) DiegEH HE

24.

25. The report entitled "Our Common Future" was submitted in 1987 by :
(1) Food and Agriculture Organization
(2) World Matereological Organization
(3) Intergovernmental Panel on Climate Change
(4) Bruntland-Commission
"Our Common Future" <776 A€ 1987 & fpas aRT S&ga &I 715 & ?
(1) @ 3R H e
(2) faga MRRANANSTERT e
(3) SerErg aREds 9X iR RHN A
(4) sedis HHITH

26. Which perspective in geography is associated with Ferdinand de Saussure ?
(1) Positivism (2) Behaviourism
(3) Feminism (4) Structuralism
gl & HF a1 9RRd GRS S 9 |/ g1 8 ?
(1) SeFeame (2) FEIERA”
(3) A AR (4) GEAER

27. Which of the following statistical technique is used to analyse the interdependence of
the variables ?
(1) Location Quotient (2) Standard Score
(3) Coefficient of Variability (4) Principal Component Factor Analysis
f=1 § | fp9 QiRFDHIT THb BT ITGNT =_F @ FT=T2aaT HT agesoT
H B o Har sEr 8 ?
(1) ®&19 AR (2) 9% 3
(3) UGS Sl IoTiH (4) 99 9¢h HRP AodTor

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)



28.

29.

30.

31.

32.

Geometrical shape formed by a group of buildings is known as :

(1) Site (2) Pattern (3) Location (4) Situation
Ha B §YE SN MRfa ST el weerd ©

(1) ¥=e (2) e (3) ®&= (4) Feefiy
Which of the following are defining feature of positivism ?

(1) Metaphysical (2) Empiricism

(3) Normative value (4) Unification of scientific laws
Fffad & 9 @9 SorearE & g Qe 8 7

(1) == (2) STgHaATR

(3) gH™ oI (4) ISTH BT BT TDHIBLOT
Who is the first person to coined the term Geopolitik ?

(1) Ratzel (2) Kjellen

(3) Haushofer _ (4) Peter Kropotin

F-TSTHIRT 9165 @ aiell Jecll ARh @i & ?

(1) Y ) S

(3) BIFEIw (4) dreX e

Leaching is the maximum in which type of soil ?

(1) Desert soil (2) Laterite soil

(3) Red soil (4) Regur soil

Prere fFe wR @ B § atftesaw €ar @ 7

(1) sy mEa (2) sieTze W

(3) @ fag (4) TR A

Which of the following is the main objective of the watershed management strategy of
India ?

(1) Soil conservation (2) Arid land management

(3) Hill slope management (4) Promoting selviculture
Freiifa & @ @19 @1 WA @1 SR S IR B g 3899 © 7
(1) Ta&T T (2) =5 HRr FEE

(3) TETS! TN SdEA (4) SedibeaT H TgE@T

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)
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33. As per the census conducted in 2011, which of the following state has the lowest
population density ?

(1) Kerala (2) Uttar Pradesh
(3) West Bengal (4) Bihar |
2011 =1 STROFT & APEAR o § § R 59 B SEEI 9 999 9§ 7
(1) = (2) ST =Y
(3) 9i=m ST COREEIRS
34.  Which of the following is not a land locked country of Europe ?
(1) Hungary (2) Kosovo
(3) Czech Republic (4) Spain
e & & A9-91 379 &1 weas 39 @ e 7
(1) & (2) =rrEy
(3) =AH TIRH @ &=
35. Temitories of which of the following does not touch the Dead Sea ?
(1) Lebanon (2) Jordan
(3) Tsrael | (4) Palestine
=1 7 | g &9 g9 9P &I wWet 78 sar 7
(1) T @ S
(3) FoTmEeT CYREINISIE

36. Mount Kosciusko is the highest mountain in :
(1) Russia
(3) Australia
. HIST HITHTEH qa9 Har gdd B
1) =9 & (2) FreT |
(3) ofegieran (4) gSHRET &

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)

(2) Canada
(4) Indonesia




37.

38.

39.

40.

41.

PHD/URS-EE-2022/(Geography )(SET-Y)/(B)
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Australia's longest river system is made by :

(1) Darling river (2) Murray river

(3) Culgoariver (4) Paroo river

SRR T T e 79 o 9 R

(1) sTiefT a6 gRy (2) IR FE B

(3) FHErnaT T g1 (4) s |6 &1

Which among the following is an extinct volcano ?

(1) Barren Island (2) Anak Krakatoa

(3) Mount Kenya (4) Mount Kilimanjaro
e & 4 S9-w iga saameE 2 7

(1) = &9 (2) STTH FHHIISAT

(3) A€T BT (4) FrfersRY gda

What is the study of landforms called ?

(1) Sedimentology (2) Geology

(3) Geomorphology (4) Seismology

wWEYl B STgTT B T Hed & 7

(1) oraHmE fasm (2) gfasT

(3) F-SATHRT RIS (4) 9H9 fo=T

What is the deep depression in a stream bed at the base of a waterfall called ?
(1) Plunge pool  (2) Cuesta (3) Meander (4) Ox bow lake

STTIIT & ST U ST & el T B T Hed © ?
(1) wisT & (2) & (3) ==X (4) iR A e

The greatest arﬁount of insolation is received by which place of Earth's Surface ?
(1) Tropical rainforest (2) Tropical desert

(3) Savanna region 4) Equatqn'al region
g@ﬁw%%wwq&hﬂ?ﬁwﬁﬁwmaﬁ%?
(1) SoEpea asiaT (2) SwTReEHT AHEA

(3) FaT & (4) AT &

P.T.O.
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42. Tropic of cancer does not pass through which one of the following countries ?
(1) Bangladesh (2) China
(3) Nepal - (4) India
% @ Frfaiad § & B 3 § 787 ol ® 7
(1) SRt 2) ==
(3) SurT 4) 9T

43. Which of the following is not a graphic representation ?
(1) Pie Chart (2) Table
(3) Bar Chart (4) Histogram
Frefifaa & @ @9 91 it Sfafeg 787 & 7
(1) =g = | (2) TRt
(3) IX = (4) REREm™

44. A survey which is specifically concerned with landed property is known as :
(1) Cadastral Survey (2) Geodetic Survey
(3) Thematic Survey (4) Triangulation Survey
T gderr S 9y wU § g-guRy & Heafua B, e & 9 § ST S @ oc
(1) E=afeT |qderoT (2) TR Fewror
(3) faeeTa g (4) FrysT qaeror

45. Caurl Savor is best identified for his classic work related to :
(1) Cultural Landscape
(2) Economic Landscape
(3) Social Landscape

(4) Physical Landscape
PR qaX B P FGERT ITH FOD HH B [T FEd oSl e |

ST AT B

(1) wiepiers aRgT

(2) oieip afRged

(3) 9IS IRged

(4) s TR
PHD/URS-EE-2022/(Geography)(SET-Y)/(B)



46. The behavioural environment is gauged by :
(1) Reality as if exists in nature
(2) Decisions based on reasoned thought
(3) Man's behaviour as a function of the environment
(4) Reality as is perceived by individuals
SIS IIAEET BT STYHM TR ST &
(1) arafwT 7 SRy & g 2
(2) THYEl =R B R W Fok
(3) WX % HH ® w9 F 97T F FTGER
(4) ar<iRaT S| % =ARRGT ERT 9T ST ©

47. The radical school of geography was established by :

(1) B.J. Alberi (2) R. Peat

(3) G. Taylor (4) E. Semple
PN Bl HifaHRI Thel Fbas G Tiva fbar @ ar ?
(1) flo Jo @A ' (2) 3Ro YT

(3) sflo 2T 4) o Q=

48. A state in India has following characters :
(i) Its northern part is arid and semiarid
(i) Its central part produces cotton
(iii) Cultivation of cash crop 1s predominant over food crops
Which one of the following has all the above characteristics ?
(1) Andhra Pradesh (2) Gujarat (3) Karnataka (4) Tamil Nadu
ARG § wH o B PRI e €
Q) s S8 AN 5h Td oYk ¥
(i) 59T TeT WFT HIE JaT BT B
(iﬁ)qﬁma%@?ﬁ@amﬁqug@%
Prefifag & @ fpad Sudw @ s g7
(1) et et () TRE (3) FEH (4) aftrerg

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P.T.O.
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49. Which one of the following places do two important rivers of India originate, while one
of them flows north and merges with another important river flowing towards Bay of
Bengal, the other one flows towards Arabian Sea ?

(1) Amarkantak  (2) Badrinath (3) Mahabaleshwar (4) Nasik

Frfiaa § @ 59 o ®F @ 9Rd # § qe@yel ARkdl H SE™ B g,
wafs ST § T IuX A S gl ¥ SR AR B @RI B S g awh
TH I Heayel @ § B ol B, @l owa |rR @ oIk Edl & ?

(1) STII®HeH (2) T 3) WEEEER  (4) RSB
50. Consider the following pairs :
Protected Area Well known for
(1) Bhiterkanika, Orissa Salt water Crocodile
(ii) Desert National Park, Rajasthan Great Indian Bustard
(iii) Eravikulam, Kerala Hootak Gibbon
(1) Only (1) (2) Only (i) and (ii) (3) Only (i1) 4) (@), (i1) and (ii1)
Prefeiad gt o fER BT -
e &= & I S S @
(i) HITLBOwR, ISIET TR I H TRAS
(i) S AIFA TTh, TOTEAH e A T3
(i) TR, BT g Fre

(1) @ad (i) (2) e (i) 3T (ii) (3) B (i) (4) (i), (i) ST (iii) |

51. Match the following :

List-1 List - 11
(a) Alluvial Soils (1) Highland areas of the plateau
(b) Black Soils (ii) Periphery of the Plateau
(c) Red Soils (ii1) Deccan Lava Tract
(d) Laterite Soils (iv) River Basin and Coastal Plains

@ ® © @
) Gy @ @ G
2) Gv) G G @)
3 @O @ @) (@)
@ Gv) (@) @ @O

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)




fFr=faaa &1 e Sk -

e -1 i -1
(a) STEe e (i) TR B I=AgfH &=
(b) Rt et (i) TSk @ GRRY
(c) @ FrEt | (i) SFHT AT SFE
(d) SeEe (iv) € IR AR TET AT

@ ) © (@
I av) @) @ ()
2 Gv G @) @
3) @ @) @Gv) (i)
@ Gv) G) @ @

52. Which one of the following statements about forests is nof correct ?

(1) Forests in the equatorial regions of India are less dense than the monsoon forests.

(2) Coniferous forests of high latitudes yield soft wood.

(3) Large-scale exploitation of forests has caused soil erosion and repeated floods.

(4) Between 2000 m and 3000 m elevation on Himalayas grow Deodar, Chinar and
Walnut.

a9 ® IR § e § @ P9-91 HT Fe TéT & 7

(1) 9Ra & guerdd &=t § a9 AFgH a9 B gas § w9 01 g

(2) I= ST B LR A F B THS! A Bkl B |

3) Sl @ a3 JHM o) e § W B BeE AR AR-9R 91¢ ARH T |

(4) RO@@ 9 2000 FeX | 3000 HIEX B SuR B G IWR, HEAR AR
eI I 2|

53. Which of the following is/are correct ?
(i) Black soils are also called Bangar.

(ii) In some parts of Gujarat and Tamil Nadu the origin of black cotton soils is ascribed
to old lagoons in which the river deposited the materials brought down from the

interior of peninsula covered with lava.

(iii) Geographically, black soils are spread over 24.6 percent of the total geographical
area of the country.
(iv) The black colour is due to presence of haemitite ores in the soil.

(1) Only (ii) (2) (i), (i1) and (iii)
(3) (i) and (iv) (4) (i), (iii) and (iv)

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P. T.O,
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PrafoRag & § o9 @1 g&@Te/8 ?
(i) @l B B TR o Her ST 2
(ii)wﬁa%w%@mﬁmmﬁ@ﬁwﬁrgrﬁéw
ﬁmwamﬁwmaﬁm%mmamw
USRIt Sl STET Sl o |

(ifi) Ao ® q, BRT B AW D FE ANREH AT B 24.6 dfwE T o

g B
(iv)mﬁﬁ@ﬁmmﬁmﬁwm%l
(1) e (ii) ‘ ‘ ) (i), (i) 3N (i)

(3) @) R (v) @) (), (iii) 3 (iv)

54, Who among the following pleaded that history be treated geographically and
geographically be treated historically ?
(1) Homer (2) Thales
(3) Hecataeus (4) Herodotus

frsfRag & & e o Rar % siem & Arite &9 & IR AFies &9
FH AETS €9 9 =Eer [Har S e ?

(1) 8T ) S|
(3) feiead - (4) BSIe™
55. The concept of paradigm was propounded by :
(1) Kant (2) Peat (3) Kuhn (4) Haggett
gRerm @1 oEgRen e &N AfaaiiRe @ T o ?
(1) e 2) @ (3) e (4) B
56. Which map of the fo]lowihg techniques is nof suitable for showing urban population on
the map ?
(1) Circles (2) Divided Circles
(3) Spheres (4) Hachures |
FrfRae aapt % & BT AHRE, T SEEeT B AR 9% @ @
fe Suges 7 & ?
(1) T (2) R =
(3) st | (4) e

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)



57. In which one of the following states of India women out number men ?

(1) Uttar Pradesh (2) Karnataka

(3) Haryana (4) Kerala

Frafeie & @ R B g wou § ARkemel @ g gest 9 oiftes § 7
(1) I S=_A (2) FICH

(3) =REm™n (4) B

58. The Vale of Kashmir is the only level strip of land in the Himalayas, which river has
laid its deposits to form on this land ?

(1) Ravi (2) Sutlej
(3) Beas (4) Jhelum

Fefic B u@ R & 9y B ohAe dad Rew ¥, g9 9 W BE A9 A
3o e SR R 7

(1) I (2) |agst
(3) = (4) =
59. Which of the following reasons dominate rural-urban migration in India ?
(1) Marriage (2) Education
(3) Family Movement -(4) Employment
Prefofag § @ SF-a1 HROT 9§ Aol SaE W) e ¥ ?
(1) fare PREL:
(3) aiam® qaie (4) TSR
60. In the subcontinent of India, the region frequently affected by tropical cyclone is :
(1) Gujarat Coast (2) Coromandal Coast '
(3) Konkan Coast (4) Malabar Coast |
A § STEElT §, SwRREHE kA § W SFHiad € a5 845 ©
(1) TR @@ @) Fvs 7@
(3) HiHIT TE (4) AER <

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P.T.O.
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61. Westerlies in southern hemisphere are stronger and persistent than in northern
hemisphere. Why ?

(i) Southern hemisphere has less landmass as compared to northern hemisphere.
(i) Cariolis force is higher in southern hemisphere.

Which of the statements given above is/are correct ?

(I) (i) Only

(2) (ii) Only

(3) Both (i) and (ii)

(4) Neither (i) nor (ii)

S8 Merd B geem § sl N § ggen sawd wew SR w@E Exl ¥
T4t ?

(i) sReh Mo F aod Aot S ga F w9 geaE E )
(i) RN Merd § BRI a1 e ST B

TR Ru T Fo=t 7 § 991/ 9 G B/ 2 ?

(1) e (i)

(2) e (ii)

(3) (i) o (ii) FHT

(4) ST () IR A B (i)

62. What causes wind to deflect towards left in the Southern Hemisphere ?
(1) Temperature
(2) Magnetic field
(3) Rotation of the earth
(4) Pressure
ferell e ® wedl & 98 iR R 8N @ ey Hwer @ ?
(1) 9=
(2) g &
(3) = T LA
(4) s

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)



19

B
63. Match the List — I with List —II :
List -1 List — II
(a) Isohels (i) Rainfall
(b) Isonephs (i1) Sunshine
(c) Isohyet (iii) Snow Depth
(d) Isonif (iv) Cloudiness

@ ® © @
1 G @ G aGv)
2 @ @G aGv G
3) @G) G @ (3i)
@ @ 3Gv G G

@—I%w@—nzﬁrﬁmﬁaﬁ:

g -1 - g -1
(a) TR () ast
(b) STEHIHRI (i) g9
(c) InSHRE (i) fBw TS
(d) IEEITH (iv) e

@ @® @© @
M Gy @ G v
@ G @) v 6
@ G Gy @O i)
4) G @v) (i) (ii)
nventional projection ?

64. Which one of the following isaco
(2) Sinusoidal

(1) Polyconic

(3) Bonnes (4) None
Prefifag & @ FF G RIS gaqoT 8 7

(1) dicirepiiieh OREIERSIESA
3) @ @) B T

PHD/URS.EE-2022/(Geography)(SET-Y)/(B) P.T.O.
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65. Which one of the following is wrongly matched ?
(1) Isobars — Places of equal pressure
(2) Isotherms — Places of equal temperature
(3) Isohyets — Places of equal rainfall
(4) Isopleths — Places of equal heights
e & @ W @ gaRa 7T ¥ ?
(1) §HE @1 — §HF T9 9 I
(2) G @M1 - 9N A9 ) &
(3) STFERLH — G I AW WM
(4) 9 3@ - §AE SHurs 9 @

66. Who defined geography as human ecology ?

(1) Schaefer (2) Hartshorne
(3) Richtofen (4) Barrows
e F T aRRaRE S T ¥ R e R ?
(1) ABT (2) eéai
- (3) RewT @) T
67. Vector and raster data models are used in :
(1) Global positioning system (2) Remote sensing
(3) Weaver (4) Whittlesey

et oIR TR 27 Afew H ITANT At S R
(1) Trae DfTeT R 9 2) foe 9T o

(3) dX H (4) fezas

68. Operation flood is related to :
(1) Check the soil erosion (2) Increase milk production
(3) Flood control (4) Fish production
AR S HT &Y B - |
(1) P& & Fe@ & S & (2) T SuEA & g @
(3) are Fere | (4) WEe SR @

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)
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69. Who among the following was the first to develop method of crop combination ?
(1) Weber (2) Wegner (3) Weaver (4) Whittlesey
Frfaiaa 3 § B9 B8 §do 31 Rty Befaa 33 aen ear @R ar ¢
(1) F&T (2) FY (3) @ 4) fecari

70. Which one among the following is the coral group of islands situated in India ?
(1) Nicobar (2) Lakshadweep (3) Minicoy (4) Andaman
Fr=feiad § § HF-91 U6 ARG § Req g19f &1 S91 998 & 7
(1) FeprarT (2) W 3) FwE (4) ST

71. What is the linear volcanic vent through which lava erupts called ?
(1) Guyot (2) Caldera (3) Dike (4) Fissure vent
98 W S=egEE FeM & 8 g St a[|r IEnika 8T & 7
(1) e (2) BT (3) 315 @) e de

72. Which is an immediate layer beyond the ozone layer ?
(1) Troposphere  (2) Thermosphere (3) Exosphere (4) Mesosphere
A 939 F TP a6 B G1 9 8 ?
(1) #r=a (2) FHRHET T Q) THEAET (4) AR

73. The classification of an masses is based on which among the following factor ?
(i) Revolution of the carth
(i1) Humidity
(i11) Temperature
Select the correct option :
(1) Only (i) (2) (ii) and (iii) (3) (1) and (iii) (4) (1), (ii) and (iii)
w1 aefiaeor Frefataa # | B a3 smafa 8 ?
(i) gefi &1 afeaT

(ii) M

(111) IgE=H

T& RHeq &1 999 B

(1) @aa (i) (2) ()M 3) ARG @) @), (i) P Gii)
PHD/URS-EE-2022/(Geography)XSET-Y)/(B) | P.T. O.
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74.

75.

76.

78.

What is a low area lying between hills often with a river running through it called 2
(1) Trench (2) Waterfall (3) Valley (4) Moraine

an%ﬁ%ﬁaﬁaﬁ@ﬁiﬁqﬁmiﬁaﬁémaﬁ%,w
HEARN & 7

(1) =g Q) wiEm (3) =1t 4) 5=

Which among the following has the highest albedo ?

(1) Forests (2) Deserts (3) Fresh snow (4) Land surface
e & & Rear ordst qag o & 2

() a= (2) oo B arem fErur  (4) 9fy & qas

Which among the following forms on

solid surfaces when condensation takes below
freezing point ?

(1) Dew (2) Smog (3) Fog (4) Frost

Wﬁﬁﬁ%mwﬁwm%wmmﬁgﬁﬂ%éﬁ
?

(1) o7 (2) = (3) FrEq (4) grer

What is the accumulation or groupin
suspended in the earth's atmosphere ?
(1) Humidity . (2) Cloud
(3) Hail

g of tiny water droplets and ice Crystals that are

(4) Condensation

What is the effect of rotation of carth on the direction o
(1) Pressure Gradient Effect

(3) Frictional Effect

T B R o e 791 B
(1) 9% It gyue

(3) w¥oT oy

f the winds called 2
(2) Coriolis Effect
(4) Centripetal Effect

S B FT Y ¥ 2

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)
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79. What are the winds which blow from the polar high pressure area to the temperate low
pressure area ?

(1) Westerlies . (2) Trade winds
(3) Monsoons (4) Polar Easterlies
gﬁqﬁm%ﬂﬁwﬁﬁmﬁwmaﬂaﬁaﬁrmﬁaﬁhqﬁw%?
(1) oR=Ff &ard ) ¥ T |
(3) AT (4) g ot el
80. In which among the following countries, is the ship building industry most advanced ?
(1) Japan ' (2) China
(3) Germany (4) Canada
Rrfefad & @ Beg 2w § R Prefor 9@ w3 ® 7
(1) sma (2) 9=
(3) S ' (4) BT

81. India's latitudinal and longitudinal extent, measured in degrees are almost the same, but

its east-west extent measured in kms, is greater than its north-south extent. This is due

to the fact :

(1) Longitudes are not parallel lines.

(2) The distance between latitude remains the same but the distance between
longitudes is greatest at the equator and nil at the poles where all latitudes join.

(3) All longitudes, with their opposites, form great circles.

(4) The earth is not a perfect square.

Wmmmm%ﬂmﬂﬁm,%ﬁﬁwwwwgaﬁm

mﬁ—wwmﬁﬁmw%,mw_mwa

S B 98 =@ @ B BRI B

(l)mwmwﬁﬂﬁ%l

(Z)Mﬁ%aﬁﬁgﬂwwﬁ%aﬁm%ﬂiﬂﬁ%aﬁaqﬁ@wqw
Wwﬁmaﬁ%aﬁrgﬁwaﬁeﬁ%aﬁwm@gl

() @ 2T, o UG B @, 93 I T L
(4) geh e ot T B

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P.T.O.
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82. Match the following :

List - I List - II
(a) Kumaon Himalayas (1) Between Indus and Sutle;j
(b) Nepal Himalayas (i1) Between Kali and Teesta
(c) Punjab Himalayas (iii) Between Teesta and Brahmaputra
(d) Assam Himalayas (iv) Between Sutlej and Kali

@ ® © O
® O 6@ G @
@ G G @ W
@ @ @ G 0
@ @ G O G

FRaT &1 e $Hiiv -

g -1 g -1

(@) > T () Ry IR wagst 3 9=
(b) AUt AT (i) A oM <frem & e
(c) 4o fRaTer (iii) et o) sreIgs & e
(d) o1aw femeTa (iv) IS IR HRN B S

@ ® © @
H @ G Gi)  Gv)
(2 Gy @) @ (v
@) Gv) Gy G ()
@ Gv  G) @) (i)
83. Consider the following statements :

(1) Longitude of Jabalpur's location is between those of Indore and Bhopal.
(i) Latitude of Aurangabad's location is between those of Vadodara and Pune.

(iii) Bangalore is situated more south ward than Chennai.

Which of three statements is/are correct ?

(1) ()and (i)  (2) Only Gi) (3) (ii) and (i) (4) (i), (ii) and (iii)
PHD/URS-EE-2022/(Geography)(SET-Y)/(B)
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86.
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iR T 9 feER &Y

(i) SR H R AR IR A & A= R

(i) oMo W RAfT @ STty gEE o) g B = ®)

(iil) FTEIR =18 & go=T o oIl sRor § R 2
(1) (i) 2T (i) (2) e (ii) (3) Gi) MR (i) (@) @), (i) T (iii)
Which of the following is wrengly matched in rivers and the states served by them ?

(1) Krishna — Maharashtra, Karnataka and Andhra Pradesh

(2) Godavari — Maharashtra, Madhya Pradesh, Karnataka, Orissa and Andhra Pradesh
(3) Mahanadi — Madhya Pradesh, Orissa, Bihar and Maharashtra
(4) Narmada — Madhya Pradesh and Maharashtra

e d & @9 91 9RE ik 9% T84 9« wedt # Jaa B fear
T B ?

(1) FT - TERTE, Fles AT g T390

(2) TMEEA - HBRISE, T SR, HHich, ISl SN 3y Syt
(3) HBMEl - = HeNl, IS, RER SR "eRrs

(4) T - e SRS IR HERIg

Mean, Median, Mode are :

(1) Measures of Deviation (2) Measure of Sampling
(3) Measures of Central Tendency (4) None of the above
Hrem, ifeaeh], 9gah ©

(1) forererT & = @ sRem B A
3) BHF wgRT & A (4) IIUH | | Bg L

A reasoning where we start with certain particular statements and conclude with a

‘universal statement is called :

(1) Deductive Reasoning (2) Inductive Reasoning

(3) Abnormal Reasoning (4) Transcendental Reasoning

T a9 SET B HB RN FF B WY E B T AR T A0S He
3 | T HQ S, FHOT S T

(1) PrmTs ab | (2) SRS T

(3) FAEFT TE (4) HHiEwTH b

PHD/URS-EE-2022/(Geography)(SET-Y)/(B) P.T.O.
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87.

89.

90.

91.

The Radcliffe line is boundary between :
(1) India and Pakistan

(3) India and China

e Yar R @ B A E 7
(1) R IR qifehedTT

(3) ¥IRT SR =

(2) India and Afghanistan
(4) India and Myanmar

(Z)Wﬁammﬂ
(4) WRG AR HMER

Which city is known as "Eternal City" ?
(1) Cape Town (2) Oslo

Re 9TEX F "N T B w9 F o1 S 2 7

(1) 39 =T (2) ol 3) I (4) S

(3) Rome (4) Tokyo

Durand Line is boundary between :
(1) India and Pakistan

(3) India and China

s Y@ R d= B q R 7

(1) ¥R SR qrieei ' (2) S SR OIS
(3) wRa SR = 4) TR 3R SR

(2) Germany and Poland
(4) Pakistan and Afghanistan

The science of study of soils is called :
(1) Seismology  (2) Pedology (3) Ecology (4) Zoogeography

qe1 & oregad $ RIS B FRT S &
(1) T s (2) USKnh (3) uRRafed  (4) swRTETE

Who authored the famous book Muquaddimah ?

(1) Ibn Batuta (2) Al Beruni
(3) Al Idrisi (4) Ibn Khaldun
sy JETF GHRAE & AEh B E 7

(1) g1 9gar (2) AT F&I
(3) o g (4) 351 e

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)
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92. Which one of the following pair of islands is separated from each other by the ten

degree channel ?

(1) Andaman and Nicobar Islands
(2) Nicobar and Sumatra

(3) Maldives and Lakshadweep
(4) Sumatra & Java

Frafafed 5 § S8 &t 3 I g Bl A9a @ uhgEy @ own &

Sl & 7

(1) 3z AR FHER &9 g9
(2) FpER AR guEn

(3) "EE 3R RIS

(4) gaET AR SIEr

93. The famous Gerosoppa fall is on which river ?

(1) River Sharaswati (2) River Ganga
(3) River Gomti (4) River Godavari
s IRET Siesar e A aw R ?

(1) g3 a1 (2) I A

(3) TAeht =1t (4) TEEd TN

94. Weathering is at "in situ". It means :

(1) Breaking of rocks at the same site  (2) Breaking of rocks by glaciers

(3) Breaking of rocks by water (4) Deposition of rock |
AR "in situ” GX BT B | FHHI HAOE © C

(1) o & wF X Tg™E & e (2) BEER & SgEt & gen

() 9l § =TgHl ® el (4) Tg= &1 e
95. Which of the following is not a planetary wind ?

(1) Trade wind (2) Westerlies

(3) Polar winds (4) Monsoon

Fr=feiag & 9 S=-a 789 vaq 787 & ?

(1) g5 g9 (2) uf¥erfi zal

3) gy &amd , (4) =T

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)
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96.

97.

98.

- 99,

100.

Cirques are the most common landforms in :

(1) Glaciated mountains (2) Flood plains

(3) Coastal landforms (4) Karst topography

T T AN oot ¥

(1) RaresiRa &g 2) 9% & e

(3) 8T -t (4) T TRTRpRT

Rhumb line is helpful in :

(1) Area Calculation (2) Shape Calculation

(3) Depth Calculation (4) Shortest distance Calculation
9 @1 9eEw ot ® -

(1) &= 3 worT & (2) AFBR B IO F

3) TEE H ToET F @) |98 B A P TOFET T
Which of the following biosphere reserves is incorrectly matched ?

(1) Nokrek — Meghalaya

(2) Manas — Uttar Pradesh

(3) Sundarbans — West Bengal

(4) Simlipal — Orissa

i § § $9 a1 T Red gk 7287 & 2

(1) rhi®m ~ Y™

(2) A9 — T AR

(3) gaxa+ —  qigEH e

(4) Fwehae —- S

Which of the following methods show population density on the map ?
(1) Choropleth (2) Isopleth " (3) Dot (4) Line
ﬁwﬁr{@aﬁﬁaﬁq—xﬁﬁfﬁmﬁawmm@ﬁ?ﬁ%?
(1) HI=rer (2) AT 3) St 4) @
Bhabar belt is found in the :

(1) Chota Nagpur Plateau (2) Western Ghats

(3) Himalayan Piedmont Zone
AR & R SR @

(1) BT MY 1 IBR) (2) qfd=rlt =
(3) fEur™Es disqie S 4) TET oy w=9r

(4) Coastal Andhra Pradesh

PHD/URS-EE-2022/(Geography)(SET-Y)/(B)
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1. Westerlies in southern hemi
sphere :
hemisphere. Why ? p are stronger and persistent than in northern

(i) Southern hemisphere has less landmass as compared to northern hemisphere
(i) Cariolis force is higher in southern hemisphere. |
Which of the statements given above is/are correct ?

(1) @) Only

(2) (i) Only

(3) Both (i) and (ii)

(4) Neither (1) nor (i1)
a;ﬁ?wﬁwéa%gamﬁﬁwﬁﬁwfﬁqgangaﬁmmméﬁ%l
) Mﬁﬁrﬁﬁﬁﬂmﬁﬂ@ﬁﬂﬁmwg'
(ii)mﬁﬁwﬁﬁ%ﬁaﬁmaﬁam?ﬁﬁ%l

e R T et F @ A gt/ E 7

3) (i)aﬁt(ii)a’t:ﬁ
@) (@ N A 8 (ii)

2. What causes wind to deflect towards left in the Southern Hemisphere ?

(1) Temperaturc
) Magnetic field
(3) Rotation of the earth

(4) Pressurc
Mmﬁﬁwﬁ%a@wmﬂﬁﬁwz@w%?

(1) armaH™

2) FEHA =
(3) g H g
(4) =@

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)
P.T.O.



< § Matc_h the List — I with List —IT :

List-1I List - II
(a) Isohels (i) Rainfall
(b) Isonephs (i1) Sunshine
(c) Isohyet (iii) Snow Depth
(d) Isonif (iv) Cloudiness

@ ® © @
M G O G G
@ O G G G
@ G (v @ (i)
@ @ Gv G G
Qiﬁ—l %W@—Haﬂﬁﬁﬁaﬁi‘:

gt -1 g - 11
(a) oTEHIETH (i) ast
(b) ABHHFT (i) g9
(c) oTEHEE (iii) 'ewr T8 rs
(d) EHIH (iv) et

@ O © @
) G O G G
@ O @i G G
3 G (v O i)
@ @ Gv G )

4. Which one of the following is a conventional projection ?

(1) Polyconic (2) Sinusoidal
(3) Bonnes (4) None
Prfofad # @ $F A1 IRIRS g&qer g ?

(1) dfefiepITh (2) dEgHEs
(3) @ — 4) B &

PHD/URS-EE-Z022/(Geogmphy)(SET-Y)/(C)



5. Which one of the following is wrongly matched ?

(1) Isobars — Places of equal pressure

(2) Isotherms — Places of equal temperature

(3) Isohyets — Places of equal rainfall

(4) Isopleths — Places of equal heights
fr=fafea § 9 @ a1 gafeaa 787 8 ?

(1) G9gE &M — 99 @ ard ©&IF

(2) THAY J&M ~ A T9 a1 &I

(3) STEHREH — HM ol aw T

(4) I JGE — T Hals a e

6. Who defined geography as human ecology ?

(1) Schaefer (2) Hartshorne
(3) Richtofen (4) Barrows
A Bl o aiRERE ® 9 § e o B ?
(1) BT (2) BTERH
(3) REEHT 4 N

7. Vector and raster data models are used in :
(1) Global positioning system (2) Remote sensing
(3) Weaver (4) Whittlesey
Jey AN [T 3T ASd F SuanT fRaT ST @
(l)’@ﬂﬁﬁﬁf?ﬁ'ﬂmﬁ (2) e §feT o
(3) drax (4) Fegars #

8. Operation flood is related to :
(1) Check the soil erosion (2) Increase milk production
(3) Flood control (4) Fish production
SRy TS BT HET B |
(1)%@%maﬁr6ﬁaﬁ (2) 39 ST J gis |
(3) are FrEEET | (4) A& IARH |

PHD/URS-EE-2022/(Geography)(SET-Y)/(C) P.T.O.




9. Who among the following was the fi
(1) Weber (2) Wegner

RreffEd § 4 B FEE gae B

(1) CEES ) IR

Which one among
(1) Nicobar

(3) Minicoy
ErfRE & @ @-ET OH ARG J
(1) FepEr

(3) =

10.

Match the following :
List—1I

(a) Alluvial Soils

(b) Black Soils

(c) Red Soils

(d) Laterite Soils

11.

@ ® © (d)
1y Gv) @D G (i)
2 v Gy aGi) @
3 @ @ (v) (i)
@ GV Gip G @
Fepeferfae @1 AT He -

g -1

(a) STEIG fargt
(b) @il gt
(c) T fergt
(d) AT g

@ @® © (d)
1 @G i)y @ (i)
@ V) Gy @) @
@ @O Gy @Gv) @i
@ (V) iy @ @

(SET-Y)/(C)

PHD/URS-EE-ZOZZI(Geography)

rst to develop method of

the following is the coral group of island

crop combination ?

(4) Whittlesey

et qe eAfs o’
@) e

g situated in India ?

(3) Weaver
fafer R HT
3) g}

(2) Lakshadweep
(4) Andaman

ﬁaﬁﬁﬁﬂmw%?

(2) TRIET
(4) s

List - 1I
(i) Highland areas of the plateau
(ii) Periphery of the Plateau
(iii) Deccan Lava Tract
(iv) River Basin and Coastal Plains

g -1
(i) ISR @ aikfey
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12.

13.

Which one of the following statements about forests is not correct ?

(1) Forests in the equatorial regions of India are less dense than the monsoon forests.
(2) Coniferous forests of high latitudes yield soft wood.

(3) Large-scale exploitation of forests has caused soil erosion and repeated floods.

(4) Between 2000 m and 3000 m elevation on Himalayas grow Deodar, Chinar and
Walnut.

Tt ® AR § FrafaRaa § § SE-a1 B & 7@ © 7
(UW%HHWHﬁEWH:ﬁEﬁWﬁWﬁ%I

(2) S=a oTEiT B YigETd A @ Pruw @B WA et T
(%Ginﬁ%a%,ﬁmﬁwﬁﬁﬁﬁ@wmaeﬁrm—aﬂmm%l

(4)%mmw20m:ﬁa%3m0ﬁﬂa%*wé%ahaaaaﬂ,iﬁwaﬁt
I I B |

Which of the following is/are correct ?

(i) Black soils are also called Bangar.

(i) In some parts of Gujarat and Tamil Nadu the origin of black cotton soils is ascribed
to old lagoons in which the river deposited the materials brought down from the

interior of peninsula covered with lava.

(iii) Geographically, black soils are spread over 24.6 percent of the total geographical
area of the country.

(iv) The black colour is due to presence of haemiﬁte ores in the soil.

(1) Only (ii) (2) (i), (ii) and (ii1)

(3) (i) and (iv) 4) (1), (iii) and (iv)

Rrfefad § & @ a1 @R/ 8 ?

(i) Fref et @Y g A Hel I B

(ii)waﬂ?m%@%@ﬁmmﬁ@aﬁm
ﬁmm%mﬁwm@ﬁmﬁw%m%@gﬂ;j?q
qarelt @ SET B ol

(iii)ﬁnﬁmmﬁ,mﬁ@%ﬂ%aﬁﬁmaﬂ%usnmﬁﬁm

gl
(iv)mﬁﬁ@ﬁ%ﬁasﬁmﬂﬁm%wam%|
(1) ae (ii) : (2) (), (ii) AT (iii)
(3) (i) 3T (V) @) (i), (iii) 3N (iv)

P.T. Q.
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14. Who among the following pleaded that history be treated geographically and
geographically be treated historically ?

(1) Homer (2) Thales
(3) Hecataeus (4) Herodotus

Frefmad ¥ § fpaY o Rar B sied & Ak @9 F 3R Arifae &9
# Ufereiie ©U q Fger a7 o =y ?

(1) B (2) &|
(3) Tefeaw 4) BlSIEH
15. The concept of paradigm was propounded by :
(1) Kant (2) Peat
(3) Kuhn (4) Haggett
gRm™ # STaUReT fhEs T Sfdied @ g &4r ?
(1) wie (2) die
(3) Hed 4) &
16. Which map of the following techniques is not suitable for showing urban population on
the map ?
(1) Circles , (2) Divided Circles
(3) Spheres (4) Hachures
PreifIReT bt o & B8 AR, T SEe B AFRE 93 &9 &
fere Suge 787 8 ?
(1) g 2) R gw
(3) et @) T=d
17. In which one of the following states of India women out number men ?
(1) Uttar Pradesh (2) Karnataka
(3) Haryana (4) Kerala
FrfefeT & & WX & fa Ie9 o afarett i dear gost § ofees B ?
(1) ST s&r (2) Filesh
(3) =& (4) B

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)
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18. The Vale of Kashmir is the only level strip of land in the Himalayas, which river has
laid its deposits to form on this land ?
(1) Ravi (2) Sutlej
(3) Beas (4) Jhelum
Eﬁatﬁiaﬁa@%maqﬁg&rwwaa?ﬁgq%,sﬁgﬁrwﬁmﬂﬁﬁ
AT T SR R 2
(1) = ) Fagst
(3) =S @) a9
19.

Which of the following reasons dominate rural-urban migration in India ?

(1) Marriage (2) Education

(3) Family Movement (4) Employment

ﬁﬁ%@aﬁﬁﬁq—mwmﬁm—mﬁmwm%?
(1) fears (2) ¥

(3) iRa gade (4) ASFEIT

20. In the subcontinent of India, the region frequently affected by tropical cyclone is :

(1) Gujarat Coast (2) Coromandal Coast.

(3) Konkan Coast - (4) Malabar Coast
w%m@qﬁ,mzﬂawﬁm:wﬁaaaw%%:
(1) TR < (2) PRFAsT ae

(3) HiHoT T 4) AEER o<

21. India's latitudinal and longitudinal extent, measured in degrees are almost th

€ same, but
its east-west extent measured in kms, is greater than its north-south extent. This is due
to the fact :

(1) Longitudes are not parallel lines.

(2) The distance between latitude remains the same byt the di

Stance betweep
longitudes is greatest at the equator and nil at the poles where a]j la

titudes join,
(3) All longitudes, with their opposites, form great circles.

(4) The earth is not a perfect square.

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)- .



8 CT(
memﬁ%mw,%ﬁﬁwwwm%,éﬁmi
mﬁ—wwmw&ww%,sﬂ%ﬁ?—mﬁwr@i
3% B 98 = 9 B HROT B - "

(1) A FAFIK @ & T |

(Z)Whﬁ%zhaaﬁ@mzﬁﬁ%éﬁﬁ%maﬁ?ﬁﬂﬂ%.@w%@i
W TR off At ¥ o gdt W g ek § el A omdwr A ' |

3) §F MR, I Add & g™, 93 g9 a9 2 |

(4) g @ ot a9t wgt B

22. Match the following :

List-1 List —1I
(a) Kumaon Himalayas (i) Between Indus and Sutle;j
(b) Nepal Himalayas (i1) Between Kali and Teesta
(c) Punjab Himalayas (iii) Between Teesta and Brahmaputra
(d) Assam Himalayas (iv) Between Sutlej and Kali

@ ® © @
(H @ @ @) G
2 @G G @ 3G
3) @Gv) G) @G @)
@ @Gv G) @ (i)
Frafeiaa &1 e Sl -

g -1 -1
(a) FATS feumeT (i) Ry T B o
(b) AUt R (i) BN ST P B ey
(c) gsTrE fewre™ (i) Frer o 3
(d) 3mEH fBaRE L B e

(V) TG R Bl @ ey
@ ® © @ -

1 @ G) G (v)

) G @ @ @Gv)

(3) (Gv) @) @) @)

@ Gvy @ (@) (i)
PH])/URS-EE-2022/(Geography)(SET-Y)/(C)
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23.

24.

25.

Consider the following statements -
(i) Longitude of Jabalpur's location is between those of Indore and Bhopal.
(i) Latitude of Aurangabad's location is between those of Vadodara and Pune.
(iii) Bangalore is situated more south ward than Chennai.
Which of three statements is/are correct ?

(1) () and (iii) (2) Only (ii) (3) (ii) and (iii)
e ot w Remr 53

(i) SR B R €ER) oi) A @ @ T
(ii)aﬁﬁmaﬁmwmma@mah@%ﬁa%l
(iﬁ)%@réﬂéaﬁgamﬁaﬁhasmwﬁ%m%l

() (@) M Gi) () Baw (i) (3) (i) M Gil)  (4) @), (i) 3N (iii)

(4) (1), (ii) and (iii)

Which of the following is wrongly matched in rivers and the states served by them ?
(1) Krishna — Maharashtra, Karnataka and Andhra Pradesh |
(2) Godavari — Maharashtra, Madhya Pradesh, Karnataka, Orissa and Andhra Pradesh
(3) Mahanadi — Madhya Pradesh, Orissa, Bihar and Maharashtra

(4) Narmada — Madhya Pradesh and Maharashtra

Freaffed & @ #9691 9RA iR 3% =83 9@ Wt ¥ o7 e Rear
TR ?

(1) H©U - ABRISE, HAeH AR AW SR

(2) MeEEd - HERTSE, A OGS0, Hritesh, IST MR a1y s
(3) HEEl - AL WRTl, IS, RER o "errs

(4) fer - T YR AR TAERTE

Mean, Median, Mode are :

(1) Measures of Deviation (2) Measure of Sampling
(3) Measures of Central Tendency (4) None of the above
T, WA, dg9® &

(1) RreeE & A (2) git=rms & 7

(3) Fd Ry B =7 @) ITF & ¥ DS 79

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)
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26. A reasoning where we start with certain particular statements and conclude with a
universal statement is called :

(1) Deductive Reasoning (2) Inductive Reasoning

(3) Abnormal Reasoning (4) Transcendental Reasoning

UF T SR B9 35 ROV Hu B A e B § oK wh g wue
P AT AT Y E, el o

(1) FrETeEs T
3) IIEH= T

(2) AFHARHS b
(4) AHETS T

27. The Radcliffe line is boundary between :

(1) India and Pakistan

(3) India and China

TsToTs @ 5 = @ S 2 ?
(1) |Ra 3R uifhea™

(3) ART X ==

(2) India and Afghanistan
(4) India and Myanmar

(2) IRT M AH=Ea=
(4) IRT AR =FHR

28. Which city is known as "Eternal City" ?

(1) Cape Town (2) Oslo (3) Rome (4) Tokyo
fopg 18T ®1 "ad B B ST F SHET @ § ?
(1) B e (2) et (3) = (4) S
29. Durand Line is boundary between :
| (1) India and Pakistan (2) Germany and Poland
(3) India and China (4) Pakistan and Afghanistan
gis @l fpTh dg B T B ?
(1) 9a AR g (2) sfh ol IRYs
(3) W SR A (4) TRRET R erEmRE

30. The science of study of soils is called :

(1) Seismology (2) Pedology (3) Ecology (4) Zoogeography
gar & oreAdT B RS B FET S ¥ -
(1) g s () SIS 3) TRREiR@ 4) ST

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)
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31. Xerophytes are vegetation of :
(1) Humid Climate (2) Dry Climate
(3) Wet Climate (4) Rainy Climate
STIRIFIET aaeafy & -
(1) ot SieraTg & (2) g6 S@arg
(3) o SEg B (4) a9t STEg &
32. Which of the following census years is called a Great divide in the demographic history
of India ?
(1) 1901 (2) 1921 (3) 1951 4) 1931
Fr=faRea & | e S g @ wRa $ SHgikEda ke J§ th "
TS %Her ST ? 7
(1) 1901 (2) 1921 3) 1951 (4) 1931
33. 'Khadar' refers to :
(1) New Alluvium (2) Old Alluvium
(3) Terai (4) Kind of jute
Gre] & o1 B
(1) S4T STelie (2) IIFAT Siclle
(3) TR (4) T B B Je
34. Frost action is an example of :
(1) Chemical Weathering (2) Mechanical Weathering
(3) Biological Weathering (4) Human Weathering
guTe foRar O IETETT 2
(1) TErES IR (2) FAiH ITqery
(3) Sifares STIE (4) AT AR

35. Which of the following is associated with mountain building process ?

(1) Orogenic (2) Eperiogenic

(3) Volcanism (4) Seismic
ﬁmﬁrﬁqﬁﬁi—’rzﬁﬁ-wqﬁﬁﬁqﬁﬂﬁﬁmﬁqﬁﬁa% ?
(1) ST 2) AR
(3) SeTeTrEEn (4) TP

PHD/URS-EE-2022/(Geography)(SET-Y)/(C) P.T.O.
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36.

37.

38.

39.

Which of the following atmospheric layers has the concentration of Ozone ?

(1) Troposphere (2) Stratosphere

(3) Ionosphere (4) Thermosphere
P & & fea amgreda o § ool @1 @isar & ?
(1) sTromse 2) G Hsal

(3) ofa=Hsw @) TEEpRR

The moderating influence of the ocean on air temperature is called the :
(1) Continental Effect (2) Maritime Effect
(3) Latitudinal Effect (4) Aldtudinal Effect
Ig B AU 9 T B GHGN TG B Hed §

(1) HeEdE 999 (2) IR STHE

(3) ST To = 4) ufeegfR=e Toa
Which of the following is not a Union Territory ?

(1) Jammu & Kashmir (2) Goa

(3) Puducherry - (4) Chandigarh

e & 9 H=-ar gihaa Reh FEF ' ?

(1) s/ 3 HHIR (2) Tar

(3) g0 4) ==SrTE

Which of the following is correctly matched ?

(1) Reasi — Odisha

(2) Koraput — Assam

(3) Digboi —  West Bengal

(4) Jhumari Telayia — Jharkhand
PrefiRad & @ @ |1 &7 gAR 8 ?

(1) Rard —  SEm
(2) FYE - omE
(3) FTER - WW
(@) g T - S

_EE-2022/(Geography)(SET-Y)/(C)
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41.

42.

PHD/URS-EE-2022/(Geography WSET-Y)/(C)

The air parcel that contains moisture to its full capacity is :

(1) Absolute humidity (2) Saturated air

(4) Specific humidity
& TR 9rEE R Sw gt emar o T 8 2, B

(3) |me argan 4) RRre oA

(3) Relative humidity

What is the linear volcanic vent through which lava erupts called ?

(1) Guyot (2) Caldera  (3) Dike (4) Fissure vent
a8 W SARTEE Frepr T ¥ Red Siet JET SEmiRd 8ar 8 ?
(1) @ 2) BRI (3) 5% @) frIR &<

Which is an immediate layer beyond the ozone layer ?

(1) Troposphere (2) Thermosphere

(3) Exosphere (4) Mesosphere
S 93 & 3k 9/’ B AT 1T 8 ?

(1) afrssisa (2) THEBET
(3) TFAEHIAT (4) AFEHET

The classification of an masses is based on which among the following factor ?
(i) Revolution of the earth

(i) Humidity

(ii1) Temperature

Select the correct option :

(1) Only () (2) (i) and (iii))  (3) (i) and (iii) 4) (), (ii) and (iii
ceeT T aefieReT Frefaiaa & | e 9 emafRe @ ? .

(i) 3TmsT

(iil) AT9HTH

&} fhed @1 FaT B

(1) @ae (0) (2) ()M G 3) () 3 (i)

4) (), (i) = (i)

P.T.O.
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46.

47.

What is a low area lying between hills often with a river running through it called ?
(1) Trench (2) Waterfall (3) Valley (4) Moraine

I Bl 3 9 Reg e A=t € Rre 9 9 s 9sdl 8, W
e B 7

(1) =z @ (3) art (4) WA
Which among the following has the highest albedo ?

(1) Forests (2) Deserts (3) Freshsnow  (4) Land surface
fr=fafea & @ frde oSt weq ot B 7

(1) a7 (2) HEE @3)aren femara (4) giH #H wde

Which among the following forms on solid surfaces when condensation takes below
freezing point ?

(1) Dew (2) Smog " (3) Fog (4) Frost

Frafafag & @ @ SI9 ga8l WX a9 ® o9 H§eed fewie Ry @ " e
g2 7?

(1) T (2) E1T (3) HET (4) 91T

What is the accumulation or grouping of tiny water droplets and ice crystals that are
suspended in the earth's atmosphere ?

(1) Humidity (2) Cloud

(3) Hail (4) Condensation

g & aigdsa d [l aFt @B B g8 iR % & fheew @1 g§ug A
g e 7

(1) e (2) A9

@) & (4) ST

What is the effect of rotation of earth on the direction of the winds called ?
(1) Pressure Gradient Effect (2) Coriolis Effect

(3) Frictional Effect (4) Centripetal Effect

qaAT P R 9 g & gHA H I99 B 4T deq E 7

(1) 9} ATBdE 9= (2) HIRNfE s

(3) =T S 4) dfgfee gwe

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)
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52.

53.

15

What are the winds which blow from the polar high pressure area to the temperate low
pressure area ?

(1) Westerlies (2) Trade winds
(3) Monsoons | (4) Polar Easterlies
i I T A @ wEelieT Fre T & @ i T awe get 0 ¥ 7
(1) 9f=r gand (2) 33 e
(3) AR 4) gda gt zand
In which among the following countries, is the ship building industry most advanced ?
(1) Japan (2) China (3) Germany (4) Canada
Pr=feRad & @ feg 33 & R Fafor SEem qea@ S+« 8 7
(1) ST (2) &= (3) ST (4) FHTST
The greatest amount of insolation is received by which place of Earth's Surface ?
(1) Tropical rainforest (2) Tropical desert
(3) Savanna region (4) Equatorial region
g@ﬁm%%mwwﬁwaﬁmﬁaﬁqﬁwﬁ%?
(1) Swmpiestd auia (2) IoRReES qEE

© (3) Ha™T &= 4) greREE &
Tropic of cancer does not pass through which one of the following countries ?
(1) Bangladesh (2) China
(3) Nepal (4) India
7 Y Prefiag @ fea 2w @ 78 R ® 2
(1) aiamReT (2) ==
(3) AgrT (4) WA
Which of the following is not a graphic representation ?
(1) Pie Chart (2) Table
(3) Bar Chart (4) Histogram
PrfiRag ¥ § @9 G Thd URiHERT 787 & ?
(1) g = (2) wierent
(3) IR I 4) EIm

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)
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54. A survey which is specifically concerned with landed property is known as :

(1) Cadastral Survey (2) Geodetic Survey
(3) Thematic Survey (4) Triangulation Survey
up g o gy w9 & g-duRy @ g g ﬁq%mﬁww%

(1) qE=aRy g (2) ORI TR
(3) faea | (4) g qderor

55. Caurl Savor is best identified for his classic work related to :
(1) Cultural Landscape
(2) Economic Landscape
(3) Social Landscape
(4) Physical Landscape
%Wﬁﬁﬁﬁ@ﬁﬁﬁ%mm%mﬂaﬁmm@
el ST B
(1) |iwpias aRgwa
(2) ol aiRged
(3) GRS IiREgd
(4) AP IR

56. The behavioural environment is gauged by :
(1) Reality as if exists in nature
(2) Decisions based on reasoned thought
(3) Man's behaviour as a function of the environment
(4) Reality as is perceived by individuals
el ATIERCT & SFTIAE Tl ST 8
(1) areafaesaT AT ST F HioE 8
(2) T FER & MR W} ol
(3) TR B B H ®I H AYI B FABR
@) st S & @fRedl gRT 71 ST

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)



C

57

58.
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The radical school of geography was established by :

(1) B.J. Alberi (2) R. Peat

(3) G. Taylor (4) E. Semple

T Bl HIRTBI T fhae aRT i fam e ?
(1) flo Sto A (2) eTRo 4T

(3) Sfio X @) $o A

A state in India has following characters :

@) Its northern part is arid and semiarid

(ii) Its central part produces cotton

(iii) Cultivation of cash crop is predominant over food crops
Which one of the following has all the above characteristics ?
(1) Andhra Pradesh (2) Gujarat

(3) Karnataka (4) Tamil Nadu
AR & T qod B PR @@ ¥

() =T I AT Y T YD ?
(ii)s—azﬁrqmmasmﬁﬂﬂm%

Which one of the following places do two important rivers of India originate, while one
of them flows north and merges with another important river flowing towards Bay of

Bengal, the other one flows towards Arabian Sea ?
(1) Amarkantak (2) Badrinath
(3) Mahabaleshwar (4) Nasik

W@aﬁﬁm@mﬁwﬁamqﬁﬁﬁméﬁm%
Wmﬁa@waﬁmmﬁ%aﬁrmaﬁa@a&mmm

quwwﬁmm%,gaﬁmwaﬁaﬁraﬁ%?
(1) epes (2) FET
(3) WeTERvax (4) -

P .
HDIURS'I‘JE'Z"ZZI(Geography)(SET-Y)/(C) P.T. O.
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60.

61.

62.

Consider the following pairs :
Protected Area

(1) Bhiterkanika, Orissa

(i) Desert National Park, Rajasthan

(111) Eravikulam, Kerala

(1) Only (i)

(3) Only (ii)

F=feie gt oX faeamr #hif

e &
(i) B, ISHET
(i) SSI€ AIFEA U, TSI
(iil) TTqeRe™, &I
(1) e (i)
(3) e (ii)

Well known for

Salt water Crocodile
Great Indian Bustard
Hootak Gibbon

(2) Only (i) and (ii)
) (), (ii) and Giii)

$ fig ST I B

@R qFl BT REAES

I e s
gh Rrse

(2) Faa (i) 3T (ii)
@) (i), (i) 3N (Gii)

Mt. Elbrus is located in which among the following continents ?

(1) North America

(2) South America

(3) Africa (4) Europe
Arde Tesd fr=faRaa d | g qerdiy 4 Rem & ?

(1) STd HARBI (2) sfRoT SR

(3) TRt (4) g

What are the dusty winds blowing in the Northern Africa and Arabia called ?
(1) Loo (2) Mistral

(3) Harmattan (4) Khamsin

Al ITHIHT T I H T ARl g9 w0 9=t By gy Hey £ 2
() g 2) Prega

(3) &HeT 4) TR




64.

65.

_ Which among the following continents border the Pacific Ocean ?

(i) Asia

(ii) North America

(iii) South America

(iv) Africa

(v) Australia

Select the correct option :

(1) Only (i), (ii1) & (V) (2) Only (i), (ii) & (iii)
(3) Only @), (i), (iii) & (V) @) (), (ii), (i), @v) & (V)
ﬁﬂmﬁﬁﬁﬁq—mwﬁqnmmﬂraﬁ;ﬁmm%?
(i) o

(i) AU IHREBT

(iii) &feyeT 3TRBI

(iv) STERIHT

(v) oAregierar

&t faea B FaT BL

(1) @aa (i), (iii) 3T (V) (2) @at (i), (i) 3T (iii)

(3) @ad (i), (i), (iii) S (V) @) (), Gi), (iii), (v) 3T (v)
Which among the following salts has the highest percentage in ocean water ?
(1) Sodium Chloride (2) Magnesium Chloride

(3) Calcium Sulphate (4) Calcium Carbonate
Hgﬁ%mﬁﬁm%@ﬁﬁﬁmwwnﬁmm%?

(1) afzaw FES (2) FRREE FAES

(3) BRYEA TEH< (4) BRIET HEI<

The report entitled "Our Common Future" was submitted in 1987 by :

(1) Food and Agriculture Organization
(2) World Matereological Organization
(3) Intergovernmental Panel on Climate Change

(4) Bruntland Commission

PHD/URS-EE-2022/(Geography)(SET-Y)(C)
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66.

67.

68.

"Our Common Future" e RaIE 1987 # fpas ara S&jd & T8 &t ?
(1) @ iR HW e

(2) A" TReRANTHRT ST

(3) Siererg IRec UX S GBI U

(4) siects HHeE

Which perspective in geography is associated with Ferdinand de Saussure ?
(1) Positivism (2) Behaviourism

(3) Feminism (4) Structuralism

oo & F9 a1 IR GRS & G § g1 B 7

(1) sreeram= (2) =AFBRAE

(3) ArdaTE (4) FEAEE

Which of the following statistical technique is used to analyse the interdependence of
the variables ?

(1) Location Quotient (2) Standard Score _

(3) Coefficient of Variability (4) Principal Component Factor Analysis

=1 4 9 g GiEmsig dFie &1 ITERT =R & SFATEAT Bl &9y
A P fog fpar ST ® 7

(1) TIF AFTH | (2) 96 3B

(3) aftac=ieiierar &1 J[oTi® (4) T 9<H HRF [T
Geometrical shape formed by a group of buildings is known as :

(1) Site (2) Pattern (3) Location (4) Situation
w9+l & G998 & Fifa sofci ey wearh ®

(1) | (2) Yed 3) &= 4) Rafiy
Which of the following are defining feature of positivism ?

(1) Metaphysical (2) Empiricism

(3) Normative value (4) Unification of scientific laws
FrefIReT & 9 I SeeEE S aReiNe fewar 27

(1) T (2) rgwEaE

(3) T T (4) S5 BRET BT TEBTOT

PHD/URS-EE-2022/(Geography)(SET-Y)/(C)
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Who is the first person to coined the term Geopolitik ?

(1) Ratzel (2) Kjellen (3) Haushofer (4) Peter Kropotin
GO 9 TG I 9Bl ARD B & ?
(1) g (2) ST (3) BEIHT (4) drex @

Who authored the famous book Muquaddimah ?

(1) Tbn Batuta (2) Al Beruni (3) Al Idrisi (4) Ibn Khaldun
uias g% JHiRHE & TEh B & ?

(1) F=T Sgen (2) AT TS=+ 0 (3) ofet | (4) T T

72. Which one of the following pair of islands is separated from each other by the ten

degree channel ?

| (1) Andaman and Nicobar Islands (2) Nicobar and Sumatra

(3) Maldives and Lakshadweep (4) Sumatra & Java

Prefofag & @ @F-d Z9F @ SEr g9 Bl Aa 4 whgER @ o &

| SRl & 7

| (1) sisaM IR FrpER €9 @98 (2) MR iR gamsn

[ (3) FEE SR TRTET (4) GART TR ST

73. The famous Gerosoppa fall is on which river ?

(1) River Sharaswati . (2) River Ganga
(3) River Gomti (4) River Godavari
ffs ArEar ST fhE T 9 B 7

g (1) g w4t (2) I AL

*: (3) Mt T (4) TeErd =

i 74, Weathering is at "in situ". It means :

(1) Breaking of rocks at the same site  (2) Breaking of rocks by glaciers

g (3) Breaking of rocks by water (4) Deposition of rock

b AT "in sitn” X BT T | FEHT HIAT B

() T A e e () T T e g

% O T A e g (4) =g T P

- 'D/URS-EE.2022/(Geography)(SET-Y)/(C) p—
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76.

78.

Which of the following is not a planetary wind ?

(1) Trade wind (2) Westerlies

(3) Polar winds (4) Monsoon
fretfoRaa & & F9-61 78T gaq 787 & ?

(1) 38 ga= (2) aferd gamd
3) gdra &and (4) AT

Cirques are the most common landforms in :

(1) Glaciated mountains (2) Flood plains

(3) Coastal landforms (4) Karst topography
TH GE G Y-oTHRAT © -

(1) femrestiea udd @) 9% & A&

(3) T g-oBREAT (4) HEfE T
Rhumb line is helpful in :

(1) Area Calculation (2) Shape Calculation

(3) Depth Calculation (4) Shortest distance Calculation

g Yar 98@® exl © -

(1) &= @ o 7 2) TR F T F
(3)n'srr§a%m=nﬁ‘ @) 999 B9 T B ToET F
Which of the following biosphere reserves is incorrectly matched ?

(1) Nokrek — Meghalaya

(2) Manas —  Uttar Pradesh

(3) Sundarbans —  West Bengal

(4) Simlipal — Orissa '

Prfoiiaa & & @i 4T T R gk 787 & ?

(1) eh . EINE

(2) 9= — ITX WA

(3) LT — iR S

(4) FaweiarT — S

PHD/URS-EE-ZOZZI(Geography)(SET-Y)/(C)
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82.

_ Which of the following methods show population density on the map ?

(1) Choropleth (2) Isopleth

(3) Dot (4) Line

prefeiaa & & BN [ AR 9 SaEe aTa seimh 2 7
(1) BRI (2) oTEHIY

(3) ST | (4) Y@

Bhabar belt is found in the :

(1) Chota Nagpur Plateau (2) Western Ghats

(3) Himalayan Piedmont Zone (4) Coastal Andhra Pradesh
qET I8 9 S @

(1) BT AFYR &I TSR (2) qid=Hr =@e

3) @ disHle &=l (4) 98T 3Ny F=

Which of the following matches is nof correct ?
(1) Myrdal — Cumulative Causation Model

(2) Friedman — Core-periphery Model

(3) Boudville — Transport Model

(4) Frank — Dependency Model

Pretferiaa &% @ @B @ P wE 7@ ® 7
(1) Seasg - doft HIONF Hlsd

(2) WIsAT - HR-GRE HAST

(3) dtsfre - uRaed AfleT

4) % - feUSHr Afsw

In Koppen's classification of climate the symbol AW refers to:

(1) Tropical Savanna Climate (2) Monsoon Climate
(3) Tropical Rainforest Climate | (4) Steppe
%%W%aﬁaﬂwﬁmAWﬁaﬁhm%:
(1) Ssrpfesde gamT SwEd (2) A STeEg
() SwrpieEdy quiad Saary (4) &

| ‘PHD,URS'EE-ZOZZI( Geograph_y)(SET-Y)/( O)
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85.

86.

Thornthwaite's modified climatic classification is based on the concept of -

(1) Effective Temperature (2) Precipitation Index

(3) Potential Evapotranspiration (4) Potential Precipitation
T 1 HRT STerarg aeiieeor BhY STEEReT 9 e & 2
(1) oo e (2) ast g=®ih

(3) HHIfeT ISt (4) drfeae gut

The largest variety of plants and animals is found in the :
(1) Temperate forests (2) Monsoon forests

(3) Tropical forests , (4) Tropical grasslands

Tt SR Sigett @ et Rifwar o R B

(1) gaeiidarT a5 § | 2) " g9 |

(3) Iwrpleseig av F (4) SRt g $ O F
During winter the northern half of India is Warm
outside the country by 3° to 8° C. This is due to:

(1) India experiencing a tropical monsoon climate
(2) The warm currents

er than those areas at similar latitude

(3) The tropic of cancer Passing through the middle of the country
(4) The presence of the Himalayas with their east and west extent

Eﬁﬁ%%%waﬁﬂmw%ﬂ%mwmﬁwﬁaﬁ
a%gamﬁ3°@8°camﬁém%lmm%:

(1)%@@@%&%%@@%&3@37{@%
(2) T g

(3)asa§%@%w%qwﬁamm%
(4)@?%@@%%%%@@@%

The weather office predicts 'depression’ over a certain area. It means :
(1) Cloudy skies

(2) Atmospheric pressure in that area is lower than that in the surrounding area
(3) Heavy weather causing a feelip, g of depression

(4) Low atmospheric pressure Over a large area

pHD/URS-EE-2022/(Geography)(SET-Y)/(c)
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A T T FRET 8 $ SR qar 3 ARrsareh s 2 sEw ot
2
(1) AaT=SIed SATHILT

(2) 39 & 7 IGHSAT TG A B A B gerw ¥ HA e g
(3) 9 AEH B HROT SIT TEGH exr

4) T T3 A W FHH agHSAT cuE

87. Consider the following :
(i) Chilika Lake
(i1) Pulicat Lake
(iii) Vembanad Lake ‘
Which of the above is/are lagoon(s) ?
(1) (@) and (ii) (2) (ii) only (3) (i) and (i) (4) (i), (i) and (ii1)
Frafeiaa gv faER AT - '
(i) Terepr shiel
(i) gRrpe ST
(iii) =TS S
IR ¥ § P9-ar/ a8 A BF 7
(1) @) 3% (ii) (2) @ (ii) 3) ()R (i) @) @), (i) N (i)

88. The irregularity in the amount of rain different parts of the north-Indian plains, during
different years is mainly due to :

(1) Tregular intensity of low pressure in the north-western part of India

(2) Difference in frequency of cyclones

(3) Variations in location of the axis of the low pressure trough

(4) The amount of moisture carried by the winds not being the same every year

SR uRq B Hergt & e At d, R au F st B e § st
B &I HIOT B -

(I)W%w—qﬁaﬁﬂmﬁiﬁqﬁﬁﬂﬁeﬁﬂﬁﬁ?ﬁaﬁ

(2) =Epamal @ oTgRy d AT

@) &9 Tamg T B o B @ A

(4) waolt g @ ST areh B AR F ST A O ST L

PHD’URS-EE-2022/(Geography)(SET'Y)/(C) | P.T.O.
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89.

90.

91.

How do the 'western disturbances' affect the crops in North India ?

(1) They cause heavy damage to standing crops.

(2) They bring in locusts which destroy the crops.

(3) They are beneficial to the crops by causing winter rain.

(4) The amount of moisture carried by the winds being same every year.
SR 9RA § ‘gierd el Ect B RRE SHT ST S 8 7
(1) ¥ TN wHar H Ah THAE TFAR E |

(2) ¥ RRTT A T & M Hae B T HI A B

(3) SISt # ot FHHT A FEAl B RQ AEEES B E |

(4) wa1ail TR BT QI §9 B a9 B AT

Which of the following indicates the types of soil erosion in decreasing order of
damage caused in India ?

(1) Ravine erosion and gullies, alkalinity and salinity and water logging

(2) Alkalinity and water logging, ravine erosion and weeds

(3) Water logging, weeds, salinity and ravine erosion

(4) All are equally damaging
ﬁwﬁmﬁﬁﬁqwﬁsﬁaﬁfﬁaﬁ%aﬁwﬁﬁ@%m%
YhIRI B SRIT Har & 7

(1) @ % Hed AR AW, dRFAT AR TGO AR S AT

(2) T R S W@, g & Hed AR ERIAIR
(3) S ¥, WRUAAR, TR X TE B Bl
@) g 9N ©9 § BIHRS o

Leaching is the maximum in which type of soil ?

(1) Desert soil (2) Laterite soil
(3) Red soil (4) Regur soil
e fohe SR @l o | otfteeey gt § ?

(1) woerg e - (2) aEE P
(3) @t frgt 4) TR B
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g2. Which of the following is th i —_
i g is the main objective of the watershed management strategy of
4 S(.)ﬂ conservation (2) Arid land management
(3) Hill slope management (4) Promoting selviculture
ﬁ'r:-rf%‘fr@ﬁ' ﬁﬁaﬁﬂmwaﬁwmﬂﬁmg@aﬁsﬁ%?
(1) goT @ ) g5 9 e
(9) TEFT TR S  (4) R Y FgEn

g93. As per the census conducted in 2011, which of the following state has the lowest

population density ?
(1) Kerala

(3) West Bengal
2011 ﬂm%mﬁmﬁammw
(1) &3 (2) I TR

(3) qfy=d =T @) faer

(2) Uttar Pradesh

(4) Bihar
m@rmmﬁzﬁq%?

94. Which of the following is not a tand locked country of Europe ?

(1) Hungary (2) Kosovo

(3) Czech Republic (4) Spain
ﬁmﬁrﬁgﬁﬁﬁzﬁq—m@qmmaﬂ TR ?
(1) &4 (2) SrEar

(3) TP TR (4) &

g5. Territories of which of the following does not touch the Dead Sea ?

(1) Lebanon (2) Jordan
3) Israel (4) Palestine
ﬁﬁﬁﬁmﬂ%ﬂﬂﬁmaﬁwﬁﬂﬁm%?
(1) da= (2) ST
(3) TR (4) fopfe=i=
phy)(SET-Y)/(C) S
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96.

97.

98.

99.

100.

Mount Kosciusko is the highest mountain in :

(1) Russia (2) Canada (3) Australia (4) Indonesia
A8 HIRFEH oY HaT g4 8 -

(1) =9 7 () FHeT & (3) oegferar & (4) SSRmr §
Australia's longest river system is made by :

(1) Darling river (2) Murray river

(3) Culgoa river (4) Paroo river

AR BT Gaq =T A dF G491 8 -

(1) SIRTT F& 3R | (2) | & &

(3) FHENET & BRI (4) s &l T

Which among the following is an extinct volcano ? .

(1) Barren Island (2) Anak Krakatoa

(3) Mount Kenya (4) Mount Kilimanjaro
Prfafaa § @ SH-a1 aga saege 8§ 7

(1) a9 49 (2) TR FHEBICIAT

(3) AIEE &HAT (4) RefeesRr gda

What is the study of landforms called ?

(1) Sedimentology (2) Geology

(3) Geomorphology (4) Seismology

et & oIS Pl T Hed & 7

(1) sraqr s 2) gRE=

(3) g-3rpicr fast= (4) g9 fasm=

What is the deep depression in a stream bed at the base of a waterfall called ?
(1) Plunge pool (2) Cuesta

(3) Meander (4) Ox bow lake

ST B AR 9 STAERT & e I Bl a1 Hed & ¢

(1) =i g1 (2) FgET

(3) FE=sx (4) 3iferg ar s
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1. Mt. Elbrus is located in which among the following continents ?

(1) North America (2) South America

(3) Africa (4) Europe
T8 e FefeieT ¥ | feg werd # Rew ® 2
(1) I8 i (2) afer @R
(3) \'ﬂm (4) ;Ia-q-
2. What are the dusty winds blowing in the Northern Africa and Arabia called ?
(1) Loo (2) Mistral
(3) Harmattan (4) Khamsin
ST SHIBT T ORG F TN AN g G4 ga=i HoFAr ped & ?
(1) (2) frga
(3) s\EA (4) @™
3.

Which among the following continents border the Pacific Ocean ?
(1) Asia

(11) North America
(111) South America
(iv) Africa

(v) Australia

Select the correct option :

(1) Only (i), (iii) & (v) (2) Only (i), (i) & (iii)

(3) Only (i), (ii), (i) & (v) @) (i), (i), (iii), (iv) & (v)
fr=fafag & 9 S9-91 98l N9 "AeMER H S g9 r 8 ?
(i) wiamEn

(i) Iod A

(iii) EFaToT SRR

(iv) 3TEhIhT

(v) Siftegferar

&t Recd B Ta9 B :

(1) @a (i), (jii) 3R (V) (2) a (i), (i) 3T (iii)
(3) B (i), (i), (i) 3T (v) (@) (i), (i), (i), (iv) ST (v)
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highest percentage in ocean water ?
(2) Magnesium Chloride
(4) Calcium Carbonate

aﬁwaavrzmsri?rmm'rfﬁﬁﬁ%?

4. Which among the following salts has the

(1) Sodium Chloride

(3) Calcium Sulphate
wE & o A e q

(1) ifegd FIES
(3) BiesEd TThe (4) HiearaH

5. The report entitled "Our Common Future” was submitted in 1987 by :

(1) Food and Agriculture Organization

(2) World Matereological Organization

(3) Intergovernmental Panel on Climate Change

(4) Bruntland Commission

"Our Common Future” =Te Rate 1987 # fbaeh &1 TEIA P M A7
(1) @ IR HY G

(2) faga FRRAMSTHT HTS

(3) STerarg 9REd 9¥ 3 ECIRIE |

(4) decis HHIN
6. Which perspective in geography is associated with Ferdinand de Saussure ?
(1) Positivism (2) Behaviourism
(3) Feminism (4) Structuralism
aiier & i T AR WETS & wE @ e ¥ 7
(1) SeFafars (2) FgBRA™
(3) ARE™ (4) A

7. Which of the following statistical technique is used to analyse the interdependence of
the variables ?
(1) Location Quotient (2) Standard Score ,
(3) Coefficient of Variability (4) Principal Component Factor Analysis

Brer & & fr |ieaebla Qi &1 SUANT =R 3l SNSRI 1 faeaisor
H & g fpar o 8 7

(3) wReT H I (4) WO §eF HRb LA
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8. Geometrical shape formed by a group of buildings is known as :

(1) Site (2) Pattern

(3) Location (4) Situation
el & §YE & Miid s ol Hearh @
(1) | (2) Yt

(3) == (4) R

9. Which of the following are defining feature of positivism ?
(1) Metaphysical
(3) Normative value

(2) Empiricism

(4) Unification of scientific laws
Frefofag & @ #9 woeEe S aRwiye {wd & 7

(1) T

(2) AFHA
(3) EE ™ (4) JsTi1h HELAT B THIBIT
10. Who is the first person to coined the term Geopolitik ?
(1) Ratzel (2) Kjellen (3) Haushofer (4) Peter Kropotin
Y-UOIT 9TE TeR qIen Bl @Rh B & 7
(1) Yg5 (2) S (3) BB (4) dreX A

11. Leaching is the maximum in which type of soil ?
(1) Desert soil (2) Laterite soil
(3) Red soil (4) Regur soil
FreieH fha s &1 gt & stferpas gar 8 7

(1) 7o @ (2) deTEE Mg
(3) @ gt 4) TR g
12. Which of the following is the main objective of the watershed management strategy of
India ?
(1) Soil conservation (2) Arid land management
(3) Hill slope management (4) Promoting selviculture
Frefafed & § B9 A1 IR & STOHH TEET 0T B g J899 § 7
(1) 9&1 @I (2) g6 g SEEA
(3) TErS! &N NEud (4) Hedihee I FGMET a1
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13. As per the census conducted in 2011, which of the following state has the loweg

population density ?
(1) Kerala (2) Uttar Pradesh

(3) West Bengal .
2011#W%Wmﬁﬁmmﬂs'”“@' T A 3 g

(1) F (2) ST T
(3) ufkem & (4) fae
14.  Which of the following is not a land locked country of Europe ?
(1) Hungary (2) Kosovo
(3) Czech Republic (4) Spain
Freffaa & & BH-a1 IA9 F1 weEE 8N T8 & 7
(1) &rh (2) HrEmEr
(3) 9% TR 4) @9

15. Territories of which of the following does not touch the Dead Sea ?

(1) Lebanon (2) Jordan

(3) Israel (4) Palestine
Fre & § fpgepr & g PR A Wt 78T a1 B 7
(1) s&=H (2) SiEs

3) ZoTTR (4) TRferad=

16. Mount Kosciusko is the highest mountain in :

(1) Russia (2) Canada

(3) Australia (4) Indonesia
I3 HITTH Ta9 SHar gdd o ¢

() &g ¥ . (2) 8T ¥
(3) offegierar o (4) gSHfamn 9
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17. Australia’s longest river system is made by :
(1) Darling river
(3) Culgoa river (4) Paroo river
AT 1 FEd T T o a T ©
(1) sifeiT =< & (2) 7% =€ BN
(3) HErmET T &1 (4) s & B

(2) Murray river

18.  Which among the following is an extinct volcano ?

(1) Barren Island (2) Anak Krakatoa

(3) Mount Kenya (4) Mount Kilimanjaro

e & & Sr-|1 Rge sawmge ® ?
(1) 3= &

(3) HES =T

(2) 3T HHIEHT
(4) TrfeESTRY e

19. What is the study of landforms called ?

(1) Sedimentology (2) Geology

(3) Geomorphology (4) Seismology

| WEedl B 3THdT Pl T Hed & 7

(1) oaqe fasm= ° (2) gfas=
(3) G-HTHI fast (4) gy a5
20. What is the deep depression in a stream bed at the base of a waterfall called ?
(1) Plunge pool (2) Cuesta
(3) Meander

(4) Ox bow lake
AT & SR 9T ST & T8 T bl 4T hed & 7
(1) <ist ga (2) F&T

(3) f=sx (4) SN a1 S
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st amount of insolation is received by which place of Earth's S“fface ,
(2) Tropical desert

(3) Savanna region (4) Equatorial region

@ﬂm%mmwwﬂma@wmsﬁa?

21. The greate
(1) Tropical rainforest

(1) IomRleady auiad (2) ISP TETIA
(3) Fa &= (@) qEeEE a
22. Tropic of cancer does not pass through which one of the following countries 9
(1) Bangladesh (2) China
(3) Nepal (4) India
%% e Pt & 3 e 2w § 7 o B 7
(1) araRe Q) 99
(3) ur (4) ARA
23.  Which of the following is not a graphic representation ?
(1) Pie Chart (2) Table
(3) Bar Chart (4) Histogram
e & & @9 a1 aites sRiffr 7878 ?
(1) g = @) afeE
3) ax =1 @) BeEm

24. A survey which is specifically concerned with landed property is known as :
(1) Cadastral Survey
(2) Geodetic Survey
(3) Thematic Survey
(4) Triangulation Survey
Th qedoT St 9 w9 § g-¥uT F w6 2, e @ w9 F o oy
(1) ety deer
(2) qufoRiE Hefeor
(3) R |eror
(4) PrgsrT aderer
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25. Caurl Savor is best identified for his classic work related to :
(1) Cultural Landscape
(2) Economic Landscape
(3) Social Landscape
(4) Physical Landscape

ﬁwﬁmﬁﬁwﬁﬁﬁammm%mmmm@
qea T ST B

(1) Sepias aigwa
(2) IR aRgw
(3) | gy
(4) A afigem

26. The behavioural environment is gauged by :

(1) Reality as if exists in nature

(2) Decisions based on reasoned thought

(3) Man's behaviour as a function of the environment
(4) Reality as is perceived by individuals
- SAFEIRe ATEROT B AN AT S 2

(1) arEfsar A SHfa § Ao ®

(2) TRt AR % IR W Fol

(3) TERT & HE B TY § AT H FFER
(4) arcfear S 6 @Reat S AW ST @

27. The radical school of geography was established by :

(1) B.J. Alberi (2) R. Peat

(3) G. Taylor (4) E. Semple

T HT Hifp e i FRT Tiga fhar @ or ?
(1) Slo Jo I (2) 3o 4

3) Sho ¥} @) $o F7Tw
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28. A state in India has following characters :
(1) Its northern part is arid and semiarid
(ii) Its central part produces cotton
(iii) Cultivation of cash crop is predominant over food crops
Which one of the following has all the above characteristics ?
(1) Andhra Pradesh (2) Gujarat (3) Kamataka (4) Tamil Nag,
WA ® OF T § Prefied @ §
() S8 I8 9 g5 o ey &
() S8HT T A Pur Yer A B
(i) T B ot Sl @ w2
Fiien F F frad avies a fergeremd & ?
D) s e (2) 7w (3) Fitew (4) afrerg

29. Which one of the following places do two important rivers of India originate, while g

of them flows north and merges with another important river flowing towards Bay of
Bengal, the other one flows towards Arabian Sea ?

(1) Amarkantak (2) Badrinath (3) Mahabaleshwar (4) Nasik

Wﬁ@mwwﬁwﬁﬁwmwmma
mmawwﬁmm%mmﬁ@@ﬁmmm
@mqmwwﬁhﬁaﬁ%,mmwaﬁaﬁrm%?

(1) s e (2) FsfiATer (3) wETETREY 4) Ty

30. Consider the following pairs :

Protected Area Well known for
(1) Bhiterkanika, Orissa Salt water Crocodile
(i) Desert National Park, Rajasthan Great Indian Bustard
(iii) Eravikulam, Kerala Hootak Gibbon
(1) Only (i) (2) Only (i) and (ii) (3) Only (i) @) (1), (i) and (iii)
P gt o3 Rem ik -
e & % [T S S
(i) HTRHOwEE, I R UM B TRAD
(ii) S I 1P, TR Ie AT awd
(iff) TR, e geh fram

(1) 33 (i) (2) ®aw (i) 3R (i) (3) Faa (i) @) (i), (ii) 3R (iii)
PHD/URS-EE-2022/(Geography)(SET-Y)/(D)



31. Which of the following matches is not correct ?
(1) Myrdal - Cumulative Causation Model
(2) Friedman — Core-periphery Model
(3) Boudville — Transport Model
(4) Frank - Dependency Model
i & @ @9 1 e 98 78F & ?
(1) STaDHE - Fefl HIONT Hisw
(2) WISAT - HR-IRF Hfsa
() drsfed - aREsd dew
4) B% - BIRG dfsw

32. In Koppen's classification of climate the symbol AW refers to :

(1) Tropical Savanna Climate (2) Monsoon Climate

(3) Tropical Rainforest Climate (4) Steppe
DU & SEg B FHBHT T ol AW Fahia e ®

(1) SomReEd FamT Skay (2) NG Seay
(3) SwmbiedE auiaT Saary (4) =

33. Thornthwaite's modified climatic classification is based on the concept of :

(1) Effective Temperature (2) Precipitation Index

(3) Potential Evapotranspiration (4) Potential Precipitation

Agde B G STaarg aEIer e STEHRen U iR § ?
(1) gl A= (2) ast ga®Hi®
(3) EIfer TSt (4) i ot

'34. The largest variety of plants and animals is found in the :

(D Temperate forests (2) Monsoon forests

(3) Tropical forests (4) Tropical grasslands

A ol il et R aril o 2

(1) FaghareT a= o 2) A9 a9 #

(3) IwmHfead a1 & (4) IR g % dae A

PHD/URS-EE-2022/(Geography)(SET-Y)/(D) P.T.O.
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outside the country by 30 1o 8° C. This is duc to: s
(1) India experiencing a tropic
(2) The warm currents

(3) The tropic of cancer passing

al monsoon climate

through the middle of the country

(4) The presence of the Himalayas with their east and west extent |
aﬁﬁ%ﬁmwwsﬂﬁmm%m%mﬁmﬁmﬁwm%
ﬁwﬁyasmmﬁfmﬁm%umm%:
(I)W@WWWWWWW%

(2) T &R |
(3)aﬁi@aﬂ%qwﬁéﬁgﬂﬁ%
(4)mﬁﬁqﬁﬂﬁﬁﬁﬂ%mﬂmﬁaﬁmﬁaﬁf

36. The weather office predicts 'depression' over a certain area. It means :

(1) Cloudy skies

(2) Atmospheric pressure in that area 18
(3) Heavy weather causing a feeling of depression

(4) Low atmospheric pressure over a large area
;ﬁwmﬁﬁﬁaﬁﬁa%w‘m’aﬁnﬁmﬂm%lmm
(1) AETeBIRT HATHIT
(2)waaﬁa@3@ﬂwﬁamw%ﬁaaﬁgﬁmﬁaﬂam%

(3) Wl A & HROT qaE TEGH BT &

(4) T g3 & T FA aigHsad T

37. Consider the following :
(i) Chilika Lake
(ii) Pulicat Lake

lower than that in the surrounding area

(iii) Vembanad Lake
Which of the above is/are lagoon(s) ?
(1) (i) and (ii) (2) (i) only
(3) (i) and (iii) (4) (i), (ii) and (iii)

PHD/URS-EE-2022/(Geography)SET-Y)/(D)
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=i ) qEr #Hifv

(i) Frenr 3

(i) gRmbe e

(iii) =TS S

ST F A A Y A 2R 7

(1) (@) AR (i) (2) B (ii)

(3) (i) 3 (i) ) (), (ii) 3 (iii)

The irregularity in the amount of rain different parts of the north-Indian plains, during
different years is mainly due to :

(1) Irregular intensity of low pressure in the north-western part of India
(2) Difference in frequency of cyclones
(3) Variations in location of the axis of the low pressure trough

(4) The amount of moisture carried by the winds not being the same every year

TR ARG & Aot & fafdrr 9t &, R ast & auf @ qen & SiatEddr
BT &I HROT B

(1) 9RT & ITR-aH wF1 & %7 ga@ &A@ dean

(2) =FaTT B STRT H e

(3) ®H TEF A B T B W A =

(4) Ba1etl ERT & ST arell - T HE0 H T i Th SI9T 8 eeT

39. How do the 'western disturbances' affect the crops in North India ?
(1) They cause heavy damage to standing crops.
(2) They bring in locusts which destroy the crops.
(3) They are beneficial to the crops by causing winter rain.
(4) The amount of moisture carried by the winds being same every year.
IR ARG & 'Ofyet e wEdl @ e JR geiiad weer ® 7
(1) ¥ T waat B A THEH TEEN 8 |
2) 3 fefedi & @ & S BHA! B T HT A B |
3) set & auf HEHT ¥ BHA! S O ATEESD B 2 |
(4) saTelt BRI B¢ 9 99 B drll T @l HE|

PHD/URS-EE-2022/(Geography)(SET-Y)/(D) P.T.O.
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40.

4,

42.

0

Which of the following indicates the types of soil erosion in decreasing Otder

damage caused in India ?

(1) Ravine erosion and gullies, alkalinity and salinity and water logging
(2) Alkalinity and water logging, ravine erosion and weeds -

(3) Water logging, weeds, salinity and ravine erosion

(4) All are equally damaging

i & & B g § 89 9w ghae B e B A B B g 3
TR BT AT e R ?

(1) @€ =1 Fe@m IR 9/, aiar R @@emr R 5a wXE
(2) ¥EET AR S @, T8 H B A SR
3) S @, TR, T R @E B HeE

(@) T T T A T ¥

Xerophytes are vegetation of :

(1) Humid Climate (2) Dry Climate
(3) Wet Climate (4) Rainy Climate
E’rlfrqssgﬁ aef §

(1) o Srag B (2) I STy B
(3) o s 3 (@) T T @

Which of the following census years is called a Great divide in the demographic history
of India ?

(1) 1901 (2) 1921 (3) 1951 4) 1931

ﬁwﬁ@aﬁﬁ%maﬁﬁw%mmff@%ﬂ
9 %8t ST & ?

(1) 1901 (2) 1921 (3) 1951 (4) 1931

PHD/URS-EE-2022/(Geography)(SET-Y)/(D)



47.

'‘Khadar' refers to :

(1) New Alluvium (2) OId Alluvium

(3) Terai (4) Kind of jute
@] B IR B

(1) 7 Sl (2) I et
(3) TR

(4) T JBR H I
Frost action is an example of :
(1) Chemical Weathering
(3) Biological Weathering
IR BhaT T Iemer ®
(1) TaEE ammerg
(3) S 3R

(2) Mechanical Weathering
(4) Human Weathering \

(2) =ifren araard
(4) 99T 9T
Which of the following is associated with mountain building process ?
(1) Orogenic

(2) Eperiogenic
(3) Volcanism

(4) Seismic
Freifefed & § BF-a1 gdq Pmtor aisr § ddfg 2 ?
(1) AR (2) RIS
(3) sETmE (4) T

Which of the following atmospheric layers has the concentration of Ozone ?
(1) Troposphere (2) Stratosphere

(3) lonosphere (4) Thermosphere

Frefoiaa & 9 o agvsam wa & e & aisar & ?

(1) sz (2) H9aM HsH

(3) AHSA (4) THEHET

The moderating influence of the ocean on air temperature is called the :
(1) Continental Effect (2) Maritime Effect

(3) Latitudinal Effect (4) Altitudinal Effect

g & AUHNE W GYR B GHBR THE H Hed ©

(1) FeTEdE v (2) |9 T

(3) TR THET (4) Titeegfsa TG

PHD/URS-EE-2022/(Geography)(SET-Y)/(D)
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0
a Union Territory ?
(2) Goa
(4) Chandigarh

48. Which of the following is nof
(1) Jammu & Kashmir

(3) Puducherry
Rt 7 @ @ g el 7R 7

(1) s/ 3l PR (2) e

(3) g5l (4) =EPTE
49. Which of the following is correctly matched ?

(1) Reasi — Odisha

(2) Kbraput — Assam

(3) Digboi —  West Bengal

(4) Jhumari Telayia— Jharkhand
Prefefaa & @9 @1 @et gar & 7

(1) = —  affsen
(2) HIYE ~ 3rEH
(3) fEmEs —  qfyem

@) g8 qaEr - FAREs

50. The air parcel that contains moisture to its full capacity is :
(1) Absolute humidity (2) Saturated air
(3) Relative humidity , (4) Specific humidity
agwqﬁﬁ%mﬁaﬂa?r@maasw@%ﬁ%,%:

(1) of aa (2) &< a1Y
(3) | S (4) Tafarse Smsar
51. What is the lincar volcanic vent through which lava erupts called ?
(1) Guyot (2) Caldera
(3) Dike , | (4) Fissure vent
98 Y@ sagEE e w® g REd @) aEr Igmia g 8 7
(1) e | (2) FR
3) s=® (4) TR d<

PHD/URS-EE-2022/(Geography)(SET-Y)/(D)
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52.

53.

54.

55.

56.

Which is an immediate layer beyond the ozone layer ?
(1) Troposphere  (2) Thermosphere (3) Exosphere (4) Mesosphere
AN W & &% 9] B T g 2 2

(1) areEs (2) TmrEnER 3) TFEsER (4) AEEHET

The classification of an masses is based on which among the following factor ?
(i) Revolution of the earth

(i) Humidity

(iii) Temperature

Select the correct option :

(1) Only (1) (2) (i) and (i)  (3) (i) and (iii) (4) (i), (ii) and (iii)
FeAHN &1 FboT Feffad & & fbg ox omafia £ 7

(i) gl o e

(ii) ST

(iil) AT

gel AT &1 99T H

(1) @ (i) ) (i) AR Gii)  (3) ()R GE) (@) (), (i) 3 (i)
What is a low area lying between hills often with a river running through it called ?
(1) Trench (2) Waterfall (3) Valley (4) Moraine

wm%mm@wwmmamm%w
HEAE & ?

1) @ (2) s (3) & @) RF

Which among the following has the highest albedo ?

(1) Forests (2) Deserts (3) Fresh snow (4) Land surface
Frefiea & @ frges TSt 9au ot 8 ?

(1) a= (2) g5 3)amen feHure  (4) 9fy e

Which among the following forms on solid surfaces when condensation takes below
freezing point ?

(1) Dew .~ (2) Smog (3) Fog (4) Frost

Frfefad & @ @9 S Gael W a9l & 5 §uA fenis g & = e
57

(1) ang (2) & (3) BE (4) 9T

P.T.O.
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0
57. What is the accumulation or grouping of tiny water droplets and ice crysgy that
suspended in the earth's atmosphere ? e
(1) Humidity (2) Cloud
(3) Hail 4) Condgnsation
@%Wﬁﬁaﬁawﬁaﬁ@ﬁiﬁﬁﬂﬂ%%wmm
e 418 ?
(1) STan ) 79
(3) &a (4) Ha&qer
58. What is the effect of rotation of earth on the direction of the winds called ?
(1) Pressure Gradient Effect (2) Coriolis Effect
(3) Frictional Effect (4) Centripetal Effect
T R W gl B qud B yeE B w wed § 7
(1) 99X ARG yog (2) HIRARE g9
(3) a¥or S (4) Afefed =
59. What are the winds which blow from the polar high pressure area to the temperate low
pressure area ?
(1) Westerlies (2) Trade winds
(3) Monsoons (4) Polar Easterlies
YA I A A | gl B o 8 & iR aw arel gad g E 7
(1) qiy=H sand (2) ¥ Eamd
3) A (4) gdra i gama
60. In which among the following countriés, is the ship building industry most advancéd ?
(1) Japan (2) China (3) Germany (4) Canada
Frieiea & | frg 291 & R FEi S8 a8 o=q 2 2
(1) s (2) =H (3) ST+ (4) FHATST

61. Who authored the famous book Muquaddimah ?
(1) Tbn Batuta (2) Al Beruni (3) Al Idrisi (4) Ibn Khaldun
sfiE gEF THRAE 3 e B ¥ ?
M Eagm Q) o a&s  (3) o T (4) g7 Tegd

PHD/URS-EE-2022/(Geography)(SET-Y)/(D)
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2. Which one of the following pair of islands is separated from cach other by the ten

63.

64.

65.

degree channcl ?

(1) Andaman and Nicobar Islands
(2) Nicobar and Sumatra

(3) Maldives and Lakshadweep
(4) Sumatra & Java

Rrfofee & @ S 2t # oid ow B ¥ d oHgE @ o A

SR & ?

(1) Sfs9H IR FHER €9 996
(2) FrepER AR gaE

(3) W AR TRTEY

(4) gAET SR ST

The famous Gerosoppa fall is on which river ?

(1) River Sharaswati (2) River Ganga
(3) River Gomti (4) River Godavari
aRTE AT S R T ) OB 7

(1) aTEe , (2) Tm =&

(3) Tl SR (4) ey &l

Weathering is at "in situ". It means :

(1 Breaking of rocks at the same site  (2) Breaking of rocks by glaciers
(3) Breaking of rocks by water (4) Deposition of rock

ST "in situ” UX EXT B | SHBT HOwE

(1) o & ®IF 9T G B TN (2) AT SR FgHT B g
(3) I | =WEFEl B g (4) =g 1 FrRiger

Which of the following is not a planetary wind ?

(1) Trade wind (2) Westerlies
(3) Polar winds (4) Monsoon
Prefefad & & SR TEE qo 7E B ?

(1) 38 9o (2) uidErfl &A™
(3) yda &l (4) =g

PHD/URS-EE-2022/(Geography)(SET-Y)/(D)
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66.

67.

69.

Cirques are the most common landforms in : |
(2) Flood plains

(1) Glaciated mountains
(4) Karst topography

(3) Coastal landforms |
7% qa8 GEE ool €

(1) fewrsRa wdd (2) 1 & HeH

(3) T -oTA (4) FTHE TP

Rhumb line is helpful in :

(1) Area Calculation (2) Shape Calculation

(3) Depth Calculation (4) Shortest distance Calculation
{9 @1 geES Bl @ ¢

(1) &= & o= |/ (2) SR H IO §

(3) T B O F (4) gE8 B9 T4 B T H
Which of the following biosphere reserves is incorrectly matched ?

(1) Nokrek —  Meghalaya

(2) Manas —  Uttar Pradesh

(3) Sundarbans - West Bengal

(4) Simlipal —  Orissa

Pt & & P a1 adsET Rod gak 7@ 2 ?

(1) =B - HuRE

(2) 9= H ~ T W

(3) gexad ~  Uiged

(4) Teeiide - 3

Which of the following methods show population density on the map ?
(1) Choropleth (2) Isopleth

(3) Dot (4) Linc

freifafaa & @ SF-4d1 @y amfes ) SwEer g9@ el & ?
(1) Hrwerer (2) amgHIE

(3) sfe (4) =

PHD/URS-EE-2022/(Geography)(SET-Y)/(D)
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D ) phabar belt is found in the :
(1) Chota Nagpur Plateau
) Western Ghats
(3) Himalayan Piedmont Zone
@) Coastal Andhra Pradesh
< 9 ol I E
(1) Bl AFGT H GOR
(2) el HIE
(3) femeraa disHie &
(4) e 3 TR

71. Westerlies in southern hemisphere are stronger and persistent than in northern
hemisphere. Why ?

(i) Southern hemisphere has less landmass as compared to northern hemisphere.
(i) Cariolis force is higher in southern hemisphere.

Which of the statements given above is/are correct ?

(1) (i) Only

(2) (ii) Only

(3) Both (i) and (i1)

(4) Neither (i) nor (i1)

gﬁﬁaﬂaﬁwﬁmﬁwﬁﬁq@mwﬁmmmmﬁl
?

() aRh Aemd & ool Aem B gen F B g T
(ii) sl Temt § Sfreifha aw oftes B B

S Ry U Hel § § AA-A1/d §ET R/ E 7

(1) e (i)

(2) e (ii)

(3) (i) o (i) &=t

(4) T (i) I 2 (i)

PHD/URS-EE-2022/(Geography)(SET-Y)/(D) P.T.O.
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(1) Temperature
(3) Rotation of the earth

72.  What causes wind to deflect towards left in the Southern Hemisphere ?

(2) Magnetic field
(4) Pressure

gferel Memd F gal 3 A ok R BN @ T FRer R ?

(1) q=
(3) get &1 g

Match the List - I with List I :

List -1
(a) Isohels
(b) Isonephs
(c) Isohyet
(d) Isonif
@ ® @© @
MG @ Gi) Gy
2 @ @ GG
3 G Gv () (i)
@ O Gv  Gi) (i)

(2) g &

4) T&E9

List - II
(1) Rainfall
(i) Sunshine
(ii1) Snow Depth
(iv) Cloudiness

Tl -1 % e gt -1 &1 s &t

g -1

(a) SAFHRH
(b) IMEHHT
(c) SEHReT
(d) mEH®

@ ® @© (@
(1) ) @ Gi) (Qv)
@ @ G Qv (i)
3 () Gv @ (i)
@ @ Gv) i) ()

gE -1
(i) auf
(ii) g
(iii) f&T TExE

(iv) 9r1ed
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P Hich© nc of the following is a conventional projection ?

74 0 polyconic (2) Sinusoidal
4 Bo anes (4) None
i(al""ﬁm F q P9 G IRUARE wRyger § ?

) AT ) W
3 I (4) B T

which one of the following is wrongly matched ?
) [sobars — Places of equal pressure

(2) Isotherms — Places of equal temperature

75.

(3) Isohyets — Places of equal rainfall

4) Jsopleths — Places of equal heights
e § & B T GART TR 7
(1) qHEE @1 — T S AR R

(2) T Y@M — FHA A CIGRESE|

3) aEdieed — WHM 91 AW WM

(4) G W - FAE HE qRT &

76. Who defined geography as human ecology ?

(1) Schaefer (2) Hartshorne
(3) Richtofen (4) Barrows
i B A TRRERE B w9 R aRe R ?
(1) BT (2) BT
(3) e @) <
71. Vector and raster data models are used in :
(1) Global positioning system (2) Remote sensing
(3) Weaver ' (4) Whittlesey

R AR I o7 Hisw H STENT AT S R
(1) oo e Reeew & (2) Foie SR A
() v J (@) e ¥

P .
HD/URS-EE-2022/(Geography)(SET-Y)/(D) P.T.O.
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78. Operation flood is related to -

(1) Check the soil erosion (2) Increase milk production
(3) Flood control (4) Fish production
AN FAE Hr qay 8 -
(1) P& 3 P & g Q () g I # gfs &
Q) @ = (4) 7Belt I
79. 'Who among the following was the first to develop method of crop combination ?

(1) Weber (2) Wegner (3) Weaver (4) Whittlesey
Frfeias § &

P S T B Ry Rt B aw wae @R o 2
(1) I 2) ¥R (3) dr 4) feza
Which one among the following is the coral group of islands situated in India ?
(1) Nicobar

(2) Lakshadweep  (3) Minicoy (4) Andaman
Wmﬁﬁ%—mwwﬁmmmwwé?

81. Match the following :
List -1
(@) Alluvial Soils
(b) Black Soils
(¢) Red Soils
(d) Laterite Soils
@ ® © @
() Gy G G G
2) Gv) () GiD) )
B @ G Gv) (i)
@ Gv) @) () @)
=R &1 e #8f

List - 11 .
(1) Highland areas of the plateau
(i1) Periphery of the Plateau
(iii) Deccan Lava Tract

(iv) River Basin and Coastal Plains

e -1 -
(a) ST e (i) R & I=agfy &=
(b) Bl g (i) ISR & qRYy
(c) areT fagr (iil) 3P TaT T
(d) deze e (iv) FE afT o adim Fem

@ (b (© (@

(I Gv) G G G

2)  Gv) @) Gi) ()

@ O =G G (i)

@) Gv) @) G) ()
PHD/URS-EE-2022/(Geography)(SET-Y)/(D)



1 : - .
2 corstsin the equatorial regions of India are Jegg dense

' : than the mong
Conifcrous forests of high latitudes yield soft wood, 0on forests
ge-scale exploitation of forests has caused 5o Crosi

4 :ch oné of the following statements about forests is noy correct 7

2)

. On and repeated f]
(4) Between 2000 m and 3000 m clevation on Himalayas groy, gzdar (;.l:l;r and
walnut. ’
aﬂzﬁaﬁﬁﬁmﬁﬁmﬁﬁﬁ?—wmq—aw%?
7 B T TR AT g 3 g
(2)3amﬁ%ﬂwa=ﬁﬁﬁqﬁmmaﬁ%,

(3)*?@%3‘% b 5 i';'@'ii'é'zﬁ'm‘amaﬁ-ﬁva@m%u
R T 2000 X H 3000 Hex @ S @
4) 3 . ﬁa%am,iﬁvmaﬁr

83 which of the following is/are correct ?
: (i) Black soils are also called Bangar,

(ii) In some parts of Gujarat and Tamil Nadu the origin of black cotton soils is ascribed

to old lagoons in which the river deposited the materials brought down from the
interior of peninsula covered with lava.

(iii) Geographically, black soils are spread over 24.6 percent of the total geographical
area of the country.

(iv) The black colour is due to presence of haemitite ores in the soil.
(1) Only (i1) (2) (i), (ii) and (ii})

(3) (i) and (iv) (4) (i), (iii) and (iv)
Frfofad & 9 @9 a1 geT e/ ?

(i) el g B G W BET ST B

(i) Jorr SR aftreig B pe Rt & RN wuw MG @ owhr [ &
H g% S & e TR @ ¥ @ e B oleh R @iw M
TETE BN ST H o

(ii) Arices w0 &, RO A 3 D Hw ARG A5 D 246 wRwE F AR
el

W) 1 frdt & Rireme orept %1 SuRER B HROT Bk B

(1) % (i) (2) (i), (ii) 3T (iii)
®) () I () ) (), Gii) 3 @)
b _
UDIURS-EE-202/(Geography(SET-Y)/(D) P.T.O.
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84. Who among the following pleaded that history be treated geographically ang
geographically be treated historically ?
(1) Homer (2) Thales
(3) Hecatacus (4) Herodotus

ﬁwﬁf@aﬁ@ﬁmﬁﬁ%m%%mﬁﬁmmﬁ@tmm
Sl UET® &7 § Fasr fear ST TR ?

(1) 8 (2) &g
(3) el (4) Frdrew
85. The concept of paradigm was propounded by :
(1) Kant (2) Peat
(3) Kuhn (4) Haggett
BINCIEEEIEC L) cu) e . fcTaTed @ g of ?
(1) = ) gre
(3) H&A 4) ¥e
86. Which map of the following techniques is not suitable for showing urban population on
the map ?
(1) Circles (2) Divided Circles
(3) Spheres (4) Hachures
FfaRad deieet & & PE-a1 gmiEE, T e B aERE 9oa &
feq Suges 78F & 7
(1) 7= (2) faaorT ga
(3) Mt (4) &=
87. In which one of the following states of India women out number men ?
(1) Uttar Pradesh (2) Karnataka
(3) Haryana (4) Kerala
ﬁﬂ%ﬁqﬁﬁﬁﬂﬂﬁ%ﬁmmﬁqﬁﬁmﬁﬁﬁ@rw&m%?
(1) ST SR (2) Fleh
(3) sREmn (4) @%@

PHD/URS-EE-2022/(Geography)(SET-Y)/(D)
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88. The Vale of Kashmir is the only level strip of land in the Himalayas, which river has
laid its deposits to form on this land ?
(1) Ravi (2) Sutlej
(3) Beas (4) Jhelum
R 1 °T Ruwm § gy &1 wHAE dad T B, g9 9fF 9T f6E 4 A

31qAT Feg S 8 7
(1) o (2) Gags

(3) =g (4) JATH

89.  Which of the following reasons dominate rural-urban migration in India ?
(2) Education

(1) Marriage
(3) Family Movement (4) Employment
Frefefed & & #ie-a1 Sror ara § ao-ged sa| ) e § ?
(1) foam= 2) R
(3) Uitai® gaie (4) TSR
90. Inthe stcontinent of India, the region frequently affected by tropical cyclone is :
(1) Gujarat Coast (2) Coromandal Coast
(3) Konkan Coast (4) Malabar Coast :
ARA & ITARIEN ¥, Iwmpfedediy empaw @ wE: g e awr & D
(1) Joid d< (2) BHST T
(3) BB TS (4) AIETER 9T

India's latitudinal and longitudinal extent, measured in degrees are almost the same, but

1.
its east-west extent measured in kms, is greater than its north-south extent. This is due

to the fact :

(1) Longitudes arc not parallel lines.

(2) The distance between latitude remains the same but the distance between
longitudes is greatest at the equator and nil at the poles where all latitudes join.

(3) All longitudes, with their opposites, form great circles.

(4) The earth is not a perfect square.
P.T.O.
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—gfgem R fheinfrer &
ﬁgmsﬂw%w%

(1) IR FHERR @ 78 ¥

@) 921 T gof @t 7§

92. Match the following :
List -1
(@) Kumaon Himalayag
(b) Nepal Himalayag
(¢) Punjab Himalayas
(d) Assam Himalayas

(a) (b) © @
MO G iy Gy
Q) G Gi) ) (iv)
3  Gv) G Gii) @)
@ (v () G (i)
Fr=faRad =1 e it -

genr -1
(a) B> RHTE
(b) AUt e
(c) 9o feHR
(d) 31EH fBHeg

(@ ®) @ @
(@) G (i) (v)
(2  G) G @) (v)
@)  Gv) G) Gi)) @)
@4 Gv) () () (i)

- PHD/URS-EE-2022/(Geography)(SET-Y)/(D)

D
T ST T B, A
AT e ' TR TR gy

List - 1T
(1) Between Indus and Sutlej
(ii) Between Kali and Teesta

(1ii) Between Teesta and Brahmaputra
(1v) Between Sutlej and Kali

g -1

(i) Ry AR qoger & 6=
(i) FrRA AR T B iy
(iii) e 3R Fmiga & 4
(iv) AT AR FHEN B o=
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93. Consider the following statements :
(i) Longitude of Jabalpur's location is between those of Indore and Bhopal.
(ii) Latitude of Aurangabad's location is between those of Vadodara and Pune.
(iii) Bangalore is situated more south ward than Chennai.
Which of three statements is/are correct ?
(1) (i) and (iii) (2) Only (ii)
(3) (ii) and (i11) G (i), (ii) and (ii1)
Prefefaa @l 9T e &1 ¢
(i) Waﬁﬁﬂﬁ@?@ﬂ?%%dﬁ%l
(ii)eﬁﬁmﬁaﬁmzﬁrmmaﬁrtﬁ%%ﬂa%l
(iif) FTAR =1 3 e § ot R # Red B
(1) (i) 3 (iii) (2) P (ii)
(3) (i) 3 (iii) (@) (i), (i) 3N (ii)

94. Which of the following is wrengly matched in rivers and the states served by them ?
(1) Krishna — Maharashtra, Karnataka and Andhra Pradesh
(2) Godavari — Maharashtra, Madhya Pradesh, Karnataka, Orissa and Andhra Pradesh
(3) Mahanadi — Madhya Pradesh, Orissa, Bihar and Maharashtra
(4) Narmada — Madhya Pradesh and Maharashtra
Rrefofad § @ @9 O FRAr olR I 98 g Teat # ea e
™ B ?
(1) T - HBRTS, Fitedh 3N Y Fe
(2) @l - FERTSE, HeA WS, HHAled, ISl A MY FAA
(3) HBTEl - He YR, IS, FER SR HeNeg
(4) TeT - Heg YR 3R HeIS:

95. Mean, Median, Mode are :

(1) Measures of Deviation (2) Mecasure of Sampling
(3) Measures of Central Tendency (4) None of the above
oTeq, A, qEAD © -

(1) e & 79 (2) wfererds & A9
OECEREIERI 4) U6 H | B T8

PHD/URS-EE-2022/(Geography)(SET-Y)/(D) P.T.O.
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96. A reasoning where we start with certain particular statements and conclyge with
. = a

universal statement is called :
(1) Deductive Reasoning

(3) Abnormal Reasoning

o o o o qu A Gt B A ge P E N O W o
& WY G B F, FET A B

(2) Inductive Reasoning

(4) Transcendental Reasoning

(1) FrreTs o (2) TS T
(3) I T® (4) HreiETTH T
97. The Radcliffe line is boundary between :
(1) India and Pakistan (2) India and Afghanistan
(3) India and China (4) India and Myanmar
e Y@ s 4 @ g B ?
(1) 97a 3R gifese™ (2) AR AT ABITE
(3) 9RT 3R gH (4) 9T 3T =ER
98. Which city is known as "Eternal City" ?
(1) Cape Town (2) Oslo (3) Rome (4) Tokyo
fFe oY &1 "mvEd e B @9 F AT A 8 7
(1) &9 =134 (2) vt (3) I (4) x4t
99. Durand Ling is boundary between :
(1) India and Pakistan (2) Germany and Poland
(3) India and China (4) Pakistan and Afghanistan
o5 YT e A @ b E 7
(1) wRT R Tiehear (2) ST AR TS
(3) ARG SR & (4) wiibET 3T ST

100. The science of study of soils is called :
(1) Seismology  (2) Pedology (3) Ecology (4) Zoogeography °
9 & I B fASE B hel o
() %9 s (2) YSKtsh (3) oftfefdr  (4) TR
PHD/URS-EE-2022/(Geography)(SET-Y)/(D)
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Q. NO. A (B8) C D
1 2 3 1 4
2 4 1. 3 4
3 3 3 3 3
4 4 3. 2 il
5 3 4., 4 4
6 2 2~ 4 4
7 1 4 v 3 4
8 3 3 v 2 2
9 4 3 v 3 1
10 2 1v_ 2 2
11 3 2 4 2
12 il 2v 1 1
13 3 1v 1 2
14 3 2v 1 4
15 4 1y 3 il
16 2 2v 4 3
17 4 27 4 il
18 3 2V 4 3
19 3 4v 4 3
20 il 2V 2 il
21 4 4v 2 2
22 il 4 v 4 3
23 il 3v 3 2
24 1 1v 4 1
25 3 4/ 3 il
26 4 4 v 2 4
27 4 4v il 2
28 4 2v 3 2
29 4 1/ 4 il
30 2 2/ 2 2
31 2 2 - 2 3
32 3 1~ 2 il
33 7 2 1 3
34 1 4. 2 3
35 il 1~ 1 4
36 4 3v 2 2
37 2 1v 2 4
38 ] 3 2 3
39 1 37 4 3
40 2 1v 2 il
41 1 e 4 2
42 3 3w 4 2
43 3 2v 3 il
44 2 1v 3 2
45 4 1l 3 1
46 4 4v 4 2
a7 3 2w 2 2
48 2 2v 2 2
49 3 1v 4 4
50 2 2V 1 2

e

vl
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